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001.

002.

003.

004.

005.

006.

007.

LDETETEN PR

1. A 20117 A~AA MR 154 A-ux 8.

2. VL A-UAHL 28 AYAUL, 7 5% WRAA UBAL, FHL 640 DAL, 5767 ALg512AL A 6 AN 5L ANIR
AMIIALAL AL A1 69,

3. adl, el atuunl 62, A& 62 Al dridl Pl tloidi-Al AHALA SAUML U4 €9,

(A) 1211 2 il Uiy 69, (B) 2 24l 3 clLsul UloY 89,

(C) 121 3 cusul Ul 69, (D)1, 2 ¥ 3 ALsul UL 69,

2ol Al fnar, A5 AL, AERAL €2 23] UL LA Al 85 GUsId ALY € ?

(2011 AvAA Hosol)

AU gridl Asu i ALBRAL €
1. xti8 usa 308 993 67.02
2. cufla-ug 555 996 80.09
3. JAd 308 919 78.03
4. »30AAE e 17 938 65.38
(A))1, 2, 3 211 4 usidl 419y 89, (B) 1, 2 ¥ 3 tubidl Al €9,
(C) 1, 2 2ini 4 6UbLAL AU 89, (D) 2, 3 2iri 4 6UbLl U1 89,

A=A sl asAl

1. 2011+ A~AA Yo YA AU & el WS @AM 57.4% arell 034 (ARl 241 42,696 azell
AT [ReRui 8 8.

2. 2011+ A-uA Yarot AxAd AU A (A4l Al ARl 9.319% € wu1R A 36.00% 6.
AR [ARaRMl As 90l 949 14 1 ¢s As Ml 914 9 R A [AzciR i 880 1 852 €9.

(A) WAL 1 dLsd U1y 69, (B) HI2L 2 s Ul 89,

(C)1 21 2 bind ansul Ul 69, (D) 1 211 2 i arsul wiou AL,

gl ux¢{oL Baredl (The Yarlung Zangbo) 1€l GuRdAHL sUL UHH) 2w € ?

(A) 22 €l (B) [y -2l

(C) &ryau el (D) H8L el

2EIHIA 2 [R516UR 20y 2 24600 wig-uR wuell- azeud st undl siomani »>ud © ?
(A) 915 215 H~UR (Gulf of Mannar) (B) 2+ 4130l A& (Ten Degree Channel)

(C) Sdant a0l Ana (Eleven Degree Channel) (D) wies uysyll (Palk Strait)
$541 (Tropic of cancer) s4L A%uHI AR aAg 2l ?

(A) ARUd (B) A%

(C) G usa (D) uta Uzl

RURAL N8R &AL 2A5HL 2 driL st Hasll Al U 56 Adlwil iy 9.
1. 24 2014 s S~ (SAIL) — €ledl

2. *1Rd UZidlum siulRaq (BPCL) — 4o

3. sia Sl dl. (CIL) — u-eue

4. Aana HeyHll-Hlum su-ll (NALCO) — [dawwi ug-y

(A) 121 3 (B) 1 21 4

(€)1 212 (D) 1,2,3x4
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008.  GRA 6iE 2 d 23] (Al WAL sy awsu uloy el ?
(A) Al Hi 2udd AU 6ieR, B Hind ADd € 241 ol su Alell s1dd vie .
(B) 501411 2ud g sl vieR, M Haual v doa-u-l s e aellg 6.
(C) sril2sui 2udd WAAIR 6igR 19749 s1dldd €9 24 U R 24 20 Y2+l A5 1S wvaid 9.
(D) el e UIE 232, HSIRINZHE A 24, GURHI) 6{ER 69, MRl 2u1R Wigll 22 vlecig, 28 6.
009. GRS HASL A AU AL

s HAS AP
1. Yeunzig ollo s Has a. ol
2. A4 w00l8 s Has b. AYdUR - YAt
3. 4l 93 AHEMD s HUs C. @uB - Gk uea
4. gty (Dabolim) s Has d. siast - ulau sioun
A)1-d,2-¢,3-b,4-a B)l-c,2-b,3-a,4-d
(C)1-b,2-4,3-d,4-c D)1-a,2-d,3-¢c,4-b

010.  dRudrll 34 2idi-l [dordl UL 56 ouoid uloy el ?
(A) AER ARAAR IH, AHEL 1€l BUR ciiaaml 2ndd €. d-l Hean G 138.68 Hl2r €.
(B) G518 31 Al -1gl Buz »uda 6, d-uefl y2 [z, [Qorefl Gewgr v Al waasi vo 8.
(C) »ucal 3u, 3idL Deunl 20dd 89, d &ioudl gl BUR 2udd 9,
(D) 4RAS IH AGIRHUAL AEl BUR HSAURU AR 161 DU si-udd 6.
011, 9rRud AN YRARAG 247 At You Hasi-) A2l WL 56 Al diou <) ?
(A) AoR1d s-dlu [Qalaenqy — aidloR
(B) CEPT y[Ralfiél — mgius
(C) uReR u2d YAl — acam [@eurR (Vallabh Vidyanagar)
(D) 212 YRaRd — wea
012. el HSLgMIel 2 Al sedgia-l Az W 56 A2l alou & ?
1. A8 Hecdl — $[A 24 A
2. dladam Brudl — dus
3. [AsH aend — dauls, AilasuesAl
4. Yl dlflun — zasa w-dl
5. 3L €1l cuen — vy elllaswea
6. HAMis e — [Bew vrruanue, [Rgas
(A) 1,2, 3,4,5 2 6 oitfloy il ulou 69, (B)1,2,3 x4 ui2u¢9,
(C) 1,3, 421 51948, (D)1, 2, 4,5 1 6 AU 8,
013. 9ol HOUAL HIHL sl WS 53 Alsu ULy ) ?
(A) dRQARL HULL AL0LE DL YRA%r1IR Wl MUY 69, 24 HouHi 61390 £9-{12A1 v buoid €.

-\

(B) Alsi-ll Holl Hall AEl (312 WHOUD viid AR SI6L DEAHT MUY 89,

NS\

(C) HRL561EL HOUL SL5IRHT RILRAU HISHT HRAA €9, 24 HUUL € YAH MRAU S,

e

(D) Ma-ua-ll Aol il anlui Yael e el (312 9gioeHl MU .
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014.  9Ruani gedi-l [Qordl UL 56 oueidl alou el ?
(A) Ausll geu, AlRasl “vuaR’” siu-l sd-ig uuold 3 9.
(B) HHIA Jed, ANSAGUE WAL WHIHL el g allsig ded 8. welly, Wi, -l dlast dH-i

Al .
(C) UGIR Ll NAUAR 5161 BUR WUR ALSLT, A 9. ASeIRL, dvtall, ey g A8l adusauml
204 69,

(D) 23820 — 2 3iorg, 1 89, 3ioll qeunil g 27 usRA Y.
015.  ~llA-1 cusul WAL sy aisu dloy 4l ?
(A) MR AL “izuua’” e sou-l uam By 2 diuni 2ud 6.
(B) *u2aauzt o1an HiAdlu ciald 9 =uiui [Qeumd 2 6.
(C) 102 -lle 2uGBe2, dasu e, 5112 [A3¢ 5119 Fal ArAdl (- wvaid -u2sl .
(D) GuRLsd ity cusul iy Al
016. (A1 cusul A5 :
1. MRAUSAHHL Yuued 6 54 SlU 8. FHL HAlY Uldrau, 208y, avld Bl sustdi-l aHda 2 8.
2. 6., 19494 yaula-D wens “ed” el e s34 dl.
3. “s22ell” eua a2 € 214 e Lld AR Haml <) sy aacus §-2a1a 202 5:8laq”

Goga 9.

(A)1, 2 211 3 ALsul ULy 69, (B) 1 Al 2 clusul Uloy 89,

(C) 2 211 3 sl Ul 69, (D) 1 21 3 sl Uiy 69,
017.  ®lIRerll Geudl 2 d Boradl Sl dal AU A 1AL AL,

1. AR a. Brer

2. ¥livH b. awle-uig

3. Ul C. 54

4. 9540 d. e, G usa

(A)l-c,2-b,3-a,4-d B)1-d,2-c,3-b,4-a

(C)1-b,2-4,3-d,4-c (D)1-a,2-d,3-¢c,4-b

-\

018.  a¥-l dscuRl 244 4l A2 WA 56 A dlail alon 9 ?

1. Se-Ba-g8l — Sreum vy

2. Glauell — sllw vy

3. 93 5193 — wkdll uH

4. uiMlar — ugel 4

(A) 1,243 (B) 2,3 4

(©)1,2 x4 (D) 1,314
019. 9l Hsleual i Nl oA dl2Al W 56 Adluil alou el ?

1. AL HSleAd — A3H121R, HSAIBU el

2. WA — BIR3L, 5249 el

3. WYL HSleUd — AYAIRL, S19L el

4. A dledd — Yd el

(A) 4 (B)3

€2 (D)1
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020.  9RA- BAULAUH SASIRL A AL F-HUA, 51l [Qo1dl WA 5 ouotdl wloy <ol ?
(A) sa1313 AA2i52 AL %~H FUATRIR vid 189241 234, sllearam [Rm1 2 diid yarliss HolA Sdl.
(B) 57 2AS U %~ AHHELIUEHT 19074 AU Sell. “AUTIR AR dil, 5% 2040 9,
(C) AHIALA WSl %~H SUIAYHT AAA Sl ARAZ A BUR d2di-l Rl uvatd €.

(D) 5Nl Aascna ulvidl 7~ MR WHHL AAA Sdl, A 2UH HIARIR DL 9 5269+ scusid,
AU HOUL Al sei-iL o [Aual €.

021.  GURAL H[BL 24 drit 221 2431 A2 WS 56 Al ulou Al ?
(A) yael {2 (Golden Temple) — yduR, Yol
(B) 3e-ua ¥[22 (Kedarnath Temple) — GaRwis
(C) 5Nl A2 ¥leR (Sri Venkateswara Temple) — aikiaRil Griueal
(D) Hl-uell vt 4[22 (Meenakshi Amman Temple) — HgR1S, diHlarig
022.  GURAL HSAL / Q81 2V 247 =L 22w+l A2 WS 56 A4 wlou €9 ?
1. NAvan — GeuyR
2. Al $As4HL YA (Taj Falaknuma Palace) — [Risexueue
3. ¥4 Hed (Jal Mahal) — 2y
4. a-lanR i3l (Shaniwar Wada) — Yyl
(A) 4 (B)3
©)2 (D)1
023. A syl A1

1. & 5218 Auil Al A wR [l Yo dl, agizg sl dl agidl A A, 5293 8 Aldl Adl, 2uue =R
HEdL gIRL AU 2udd 8.

2. Alel uuUl, Yo unddl, AN 2umaiidl, - adll, 245 1adl widl, ad [Qud-dl qudl, H8ina
5% & [Rroudl. 20 - old ¢ReR ™z gl i 2uda 9.

(A) UAH ASA ALY 6, (B) tllog cusu ulou 8.

(C)man 241 olog 6id ausul Ul €9, (D) NuH 244 oilog 6id ausul uldu .
024. Al A3 512 UL suL A5 ULU 6 ?

1. »de Hauell — Ay waR

2. vobpA Aogaudl il — w3l

3. B2 21 Mz — BusR

4. RIaeIA YIUTHER 4RI — e

(A) 1, 2 24 3194 89, (B) 2,3 ¥ 4 ul2u 89,

(C))1, 2 241 4 idy 89, (D) 2, 3 241 4 idY 89,
025.  Auisi 2 dxiill gla 2490 ALl A 56 A2 ulou el ?

1. 9l [amgy ueus: — w1812 (Ardhanarishvara)

2. wi3lldl Ban — [iew= (Pinjar)

3. 2l cua g5 — sueHlst 182 (Aadmi ka zahar)

4. 9l ugud — R »uA4 (Maila Anchal)

A4 (B)3

€2 (D)1
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026.  GURA AR5 27 Aol AUl A2 UL 55 A dl uloy -l ?
(A) €Y vud-L B3RS0 (Hampi monuments) — $i2s
(B) us1u1dl Y4 (Mahabalipuram) — cardle-iig
(C) Sl As121l (Ellora Caves) — HEIMEL
(D) 1R Hl-UR (Char minar) — 8g1euE, dédaw
027.  Avisgll 2R d2di-u ugisHl [Qotdl satadl suotdidl A2 WA 5§ Al wlou Al ?
1. 2gdl2 AU — ydRIoL, AL, ASAA
2. dadAu Pl — Agygl, WaR var
3. 84 Mg — dai, yedlay, A%YAS
4. uA% Wes — (A2 2ug, dAld, HIRL AU
(A) 4 B)3
(C)2 (D) 1
028.  swy AglA-u A Ul suL a0l [Qsu 2da gdl ?
1. HisaA €21 (Mohenjo daro)
2. s1¢l sudun (Kali bagan)
3. diad 211 dioudl
4. Yasin 1R (Sutkagen Dor)

5. slla-sl
(A) 1, 2,3, 42 5 61190 2201 (B)1,2,3415
(C)1,3,4,5 D)1,2 3,4

029.  ~flAwu cusul AsAL:
1. 321 9 185 B.C. Y4l (uaui WA (Mauryan Empire) A3 8.
2. 518 (Kautilya) glL Wi udd ‘sidaua’ 214 {38l (Megasthenes) il @vicusi »uda

gaelldoiHi agll o wdldl wa 9.
3. A3 A 6llgAR Fal ALY, AL VoL HSAT, 8d.
(A) 1 2 2 i 89, (B)'1, 2 A 3ui2u 89,
(C) 2 2 3 Ui 89, (D) 1 2 3 Ui 89,

030.  ai - Uil A2l WA ¢ oAl ulou Al ?
(A) 1191 — duS uanm Ys (first battle of Tarain)
(B) 1498 - QL%QL-&-OLLHL:Q A (arrival of Vasco-De-gama in India)
(©)1536 — wslludd M yg
(D) 1556 — welluad ollog ys
031. DA UA 5 Aol ulou 9 ?
1. 1858 — @1Rdxll adlaz (Bl A1 dvigla
2. 1905 — 6{oum-it MLl
3. 1919 — Ads2 st olla [A3gui igian (call for all India hartal against Rowlatt Bill)
4. 1924 — AuHA sl Augs
(A) 1,2, 3211 4 9194 89, (B) 1,2 ¥ 4 uidu 89,
(C) 2, 344 4 idY 89, (D)1, 2 24 3 UioU 89,
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032.  NANUA S A2l ulou el ?
1. 1935 — darifre s S+dul s1El uuR (Government of India Act Passed)
2. 1942 — MR 91381 Aigla-l A3
3. 1945 — 5131 g1l a2uou-l us12-l 22yl
4. 14 222 1947 — wilZainA addl

(A)3 (B) 4
€2 (D)1
033.  ul2xna (primitive man) AL Mau 58 susid A sdi ?
(A) uy wan ugrﬂ (animal husbandry) (B) as (wheel)d Gewiert (make a wheel)
(C) Al na1adl (make fire) (D) -1, Beurent (grow grain)

AR

034.  GURAML UUIR Sl dUdd UL AL 121, AN 20dd 518 2L A Sl WA ¢ Al wioy €9 ?

-

1. wglo disi — slase

-

2. 3udisl — ylase vid ugin

-

3. ¥ disl — Yo$
4. 5 dlsl — Yrd, YAl

(A) 4 B)3
(C)2 (D)1
035. 1857 *ll >t AAHHUL MU0 QU HSIMIAL A AL sdHas 4loy dd dlsdl.
CHRICIC] oY)
1. GLSIERAWS NER a. »idl
2. AL Ut b. aaglayr, B2
3. gaR(e C. 51142
4. dlzia-n qadlons d. [Becll
A)Ll-d,2-c,3-b,4-a B)1-c,2-b,3-a,4-d
(C©)1-b,2-a,3-d,4-c (D)1-a,2-d,3-¢c,4-b
036.  HSrLUe UM A A aduir unl A2 WA 56 ol wloy ) ?
(A) 22— 2w (laHdl) —ud Brer (B) wora — [RulRaer / w218 — elaa gz
(C) alr — [ — Gur [BigiR (D) 21245 — AlrYR (8125) — Ased s1e4lR

037. DA asal ASIAL:

N Yo

1. AU KA A el WAL AWBAUR HASHEWS Scll ARl AHelUEH] Ma-l [eal, wdl Hdq, 2
g, ML HREEl 2aruqu s34 gdl.

-

2. YAdi H8HE 6118l 13 aui-l BHR ougl BuR lAA Sl ARl %roLg, AMUIAR, %9, [ sl a0l u

Uldtdl atiL Hdd sdl.
(A) 1 cusu iou 8, (B) 2 s ULy 69,
(C))1 2m 2 cusul Uiy 69, (D) 1 211 2 cusul Uloy 4,
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038.

039.

040.

041.

042.

043.

R 2o, A [As1A wHg Sl R
1. GDPHI Add [asu ag 84 8.

2. Al SYled siaHaAM Ul €2 a¥ Add QUIRL Adl A 8. (Gross Capital Formation)

(A) WAL NAH ALSU ALY 8, (B) i oflog cusy ulou €9,
(C)man 244 oilog 6id ausul Ul €9, (D) MuH 244 oilog 6id sl Aoy .
DETETEN PR

1. u2e el su-lzil gt ulaidl azgil oflon sAHT H 612012 (531 5201 2691 cud (st sani 20d
8 R Ul 2a-l Beurgs su-dl2i-l Beurg i, 2821 s “1-8l s3dlar” (Anti Dumping Duty)
AlEH 2Ud 8.

2. Aoy 214 Baaldl Hanau-l vk llq [Aeud (Trade Policy Division) gl 24 stdatdl $cusi
U4 €9,

(A) WAL NaH ALsA A1y 8, (B) A oflog cusy Ao €9,

(C) NaH 21 oilog 6id alsul oY €9, (D) MaH 24 oilog 6id aisul uidu .
23R Al (Teaser loan) 2424 ?

(A) geu dealiA 2l 2iadl 1l 54 di

(B) AM% AL 6101 AL ALSiA Al €3 UM 2adl din

(C) Ain, 3 BHLUAH Y5 ANl HIS ALYl £ VAL S1U 8 il ULl L=l €2 QHIRAUML 2ud 8.
(D) BuRisd WA s ur =l

81§ AAL (Hard currency) 1Hi-d ld UAE $UML 204 8 $18L 5 -

(A) s 244 A 8U Ad A [[R 9.

(B) gl / Aau-t et d-l adcudSedl adlsiz a6,

(C) dHL 2015 kR, g2l adi Al

(D) GuRsa WSl axin

Q- WAL 55 ouoidl goual (Inflation) d Astuda ¢ ?

1. disil Geuig scuHi a21sl A 8 MA aLu st dlsin AeuLl uadl siu.

2. 22l A ML HIDL Sl AR YRAEL.

(A) 1= uaH suoid (B) H1a 6l ouoid

(C) uau 24 6lle i ouvidi (D) uaH 2 6le vid ousidl 210y gl
215 UHAAL E511HL WA 6 A5l %32 8. U, df uid HIRRAL vy §2304 §5IHL 511 52 6.
(A) ey siioreusl (Structural unemployment)

(B) w491 6ii%usl (Disguised unemployment)

(C) uflu sirierousl (Cyclic unemployment)

(D) adwL siierousl (Frictional unemployment)
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044.

045.

046.

047.

048.

049.

050.

051.

A UL L cusul diou 6 ?

1. MIRd 8107 Aldl a8 Beurg 21 GualdL (consume) $UR 22 €9,

2. 561l Al auR Gewwg Aeud wu 9.

3. vils sl HIAHHL @AM 60% $8l07 Geurg i 69,

(A) 2 211 3 (B) 11 3

(C)1 ¢ 2 (D) 1,243

Ao 6l g iyel Wl fl vaadl var su-dl “Ouisle S-ruiz-a i3 342 334 siuilan, (DICGC)”
5§ fuidfleini e 2u2eR1 2uudl el ?

(A) dlsd 2L s saa (B) UHre Gisl iad

(C) Aula 324 Gisrl t1Ad (D) S-22 6is uife

UIR A5S VUHA ARITR (CRR) HI AMIRL $cUHT 20 8 AR

(A) (B 5 W2 Gimsl WA UL BH A8 9. (B) uea-l AsAsRL Yl As1a A3 2 9.
(C) ARSI+ Rudla vuani a2usi i 6. (D) dwR-GelldHi d® 2ud 69,

A2 WA su1 Bl “ydl Wa Bala” (Capital Goods Industries) 1Rt 20 €9 ?

1. $%dl Wa Gewen (Engineering goods)

2. 5143 Bewol (Textile)

3. -uRu Al (Financial Service Industry)

4, o8 51H 2 vl (01l Wl 2isHl

(A) 2 21 3 (B) 14
(C) 1,214 (D) 2,341 4
A U 5y cusu ulou €9 ?

1. MURAME 2B 2 23 &g, [Acuar- AouLlH] suetdid in S suni >ud 8.

2. walas, weafs 211 adla & (primary, secondary and tertiary sector) +{L dtaL-ll il Guaiol
(resources usage) il AU SAAHI 204 €9,

(A) 1 24 2 Ul s uRL sy 41y «dl. (B) 1 A 2 binl cusul ULy 69,

(C)aun 1 ulou 69, (D) WA 2 Uloy 69,

“Gilt edged market” »i24...

(A) Al Aleld e (Bullion Market)

(B) 2512 HI-00R o iR (Market of govt. securities)

(C) bigs7, 1R (Market of guns)

(D) 'ug 1R (Market of pure metals)

“vgl gedl 22U (Khadi Prakritik Paints)-l ¢iws H#AA3R a5 si-l [Ruegs ada © ?
(A) W 3 Sl (B) Hu-. Nl 21353

(C) Wirt. 2¥ld e (D) Wr. A%-u A2

g2l [Auus sustamt ~unaaiHl g0 Gur uldeis’ -l etorars, G sitrei sa wudl sani
SAHL 20dQ 8 ?

(A) 326 (B) 327

(C) 328 (D)329
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052.

053.

054.

055.

056.

057.

058.

059.

LDETETEN PR

1. auRdrl [RA=1s ugidvn uas-dl [Rugs e dls Aan 2ual0 (UPSC) 53 9.

2. avii-l [Angls usus=l 6121 sl 204 © 244 igtll Yed ui an-l siu 6.
(A) 1 21 2 i ausul diou 69, (B) 1 Al 2 binl cusul uloy ).
(C) |iat 1 cusy ulou €9, (D) 1oL 2 cusy ALY 89,

A2 WA su1 causul aloy 9.

1. -endadl [Rugls (urdru sitedl sau 280 8601 sAUHE 24 €.

2. i 10 vl Yed w2 AlHaHi 2ud .

3. 1540 -RuiaHi A 2021+ @l 2un @S deHnl sami 2uasl.

(A) 12412 (B) 11 3

(C)2 x1 3 (D) 1, 2 11 3 618190 sl ULy ).
UL ALSUMIHL t1g2 (Budget) WHYR A 89 AR

(A) Yri: 612 29 AL 214 69, (B) wanalardl sigdl saimi 2ud €.
(C) wauH-lsll A2-uy, >0 €. (D) 2ysl 1Al 2z A2y 20 8.
MURAAL GTHIRRL B3AR HIE UAH NAHL % SHEL AlHani 2uda 8dl d sun el s € ?
(A) Sl Quid (B) 83 Auid

(C) al$ B2 sieq Auid (D) €2 s[Wél AQuid

QURAL A[AUHE 2UUAHE UdA 8551 AHA S0 AASIRL 5O sAuul sAlauH 2uda € ?
(A) 32 (B) 31

(C) 30 (D) 29

A UL 5y cusy wloy 4l ?

(A) “A%u”l UL — 54H-12, $4H-36

(B) u-dlla-u woteals Rugidl @y sl suoid — s41-37

(€)1 g disseuadl alg el wnlys cuaan — san-40

(D) Getion-u adlazui s1eRiql cuolleldl — san-43-5 (43-A)

DETETEN PR

1. Rl A[d 8Ll a5 1 useL 1 siieulHi 02uld 244 Gurnguld 91l Adraus 21 saida 6.
2. 1Rl 02Ul 247 el s1R160u) 29 A2 21l GURAL titReLl s4H 52 21 53 Hi salda .
(A) UAH AUSA ALY 8, (B) tllog cusu ulou 8.

(C)man 214 oilog 6id ausul Ul €9, (D) MuH 244 oilog 6id ausul ulou 9l

Al 2uaia giau A sud-l @lld (National Strategy for New India) #i - W4l 56 ousid-il
AHA 534 Al ?

(A) 41 Heearll 8 HI2 QgL 55 53¢ © i dA [RAg saud, 2nl-
(B) 1 qguisl HNaal AR U2l 2y (Group) <l 2L sAHE »uda 8.
(C) 1 5144 800 cicuedltl, 550 oL [Amtidi-l A Aui 2uda 6.
(D) 20 ASUAHE 52 WSV 247 6 2L AHIAL A1 69,
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060.

061.

062.

063.

064.

065.

066.

067.

AL causal AsIAL
1. daue [ 3o 2 Yaudidl el qyel graieigidl el 2uaiom Al wu 8.
2. Y2ull vuaiaH Hou 2ell s Guld HeTH 6l UL Slu 6.

(A) UAH AUSA ALY 6, (B) ollog cusu ulou 8.
(C) N 241 oilog 6id ausul AU €9, (D) MuH 244 oilog 6id sl Aoy .
DETETEN PR

1. MR- tiRel sam 315(1) Yoyl A s dls Adl 2uAl0L 8.

2. A% A AU GUOAAH, AUALLA AEL Ui, A9UY AguldA A1ER 53 .

3. AU LS Adlrll A, AU HIRA ARSIR, A% AR 8601 6112 SIS ALs<] W2 wiat el .
(A))1 24 3 cusu U 89, (B) 2 211 3 als UidY €9,

(C) 1 2 2 cusu Uy 89, (D) 1, 2 21 3 s UldU €9,

Sedly Ad sl 2010l 214 AL Q4 56 A wolld SR S35 (Integrity Index) -0l 2=l s
1 uoitld 21 S0 e sldd € ?

(A) a 2uaia (B) A tirs 2l S+l

(C) Ar2& 6yl 2iis S-adldiaq (CBI) (D) 11M 2HgLne

A2 Q4L su1 cusul qiou 89 ?

1. dlsWA i dlsiysd Aol S1EL A 201340 A Sdl A4 2014 Hi Al AHA A3 $34 8l
2. diswid w8 BuRid 8 AU €I A3 69,

3. ALSWA ARE A AUl Yed 6 ad €iu 8.

(A) 1211 3 il Uiy 69, (B) 2 24l 3 sl UloY 89,
(C))1 21 2 cusul Uiy 69, (D) 1, 2 21 3 alsul Uiy 69,
7,10,8,11,9,12, ...... —vpuel) orouL Y.

(A) 7 B)10

(€12 (D) 15

9,16, 23, 30, 37, 44,51 ... ¥ ...... —wpued) orouL Y.

(A) 59, 66 (B) 56, 63

(C) 58, 66 (D) )58, 65

A1 WA 5y e (instrument) dloy 8l ?

(A) 2Ml21R (guitar) (B) il (flute)

(C) anaiell- (violin) (D) [ReuR (sitar)

ELFA, GLHA, ILJA, .......... , MLNA —vuefl osou1 y2i.

(A) OLPA (B) KLMA

(C) LLMA (D)KLLA
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068.

069.

070.

071.

072.

073.

®

® @
®
® 6 6@ ®

X = s v gdl ?
(A) 16 (B) 18
(C) 20 (D) 24

a

X =qdyeseq e ?

(A) 7 (B)S
©3 (D)1
18 | 24 | 32

12| 14| 16

3[A| 4

72 (112|128
Adyasegea?
(A) -2 (B)-3
(C)-4 (D)-5

AEL el Y5 254, ALY Ald AR AN GULE 815 AL €D il ALR AN 6ULE 854 AU €9, VU UM Y&
sedleal ?

(A) 650 3L. (B) 690 3L.
©)698 31. (D) 700 3L.

U 20 $357L U, $951 UL 375 3L W MHIA WIS €9 2 33 31, Al 3s U cud A . 24 A%UH A S2al
251 51/ s 2y 89 ?

(A)5.6% -1l (B) 3.5% su-l
(C) 6.5% q5u1 (D) 4.3% ~151

11 AR Anui Seql GUR 26 an 9 uA dl525luR, 512w $cl AR QY U2l €. % VAL 6iAA blE
s 209, dl 6 Ml GHR M-l BHAL AU 5L 245 AN 82 €9, 1 AARUHL AH-l A3
GuR sedleai ?

(A) 26 (B) 25 al
(C) 24 (D) 23 al
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074.

075.

076.

077.

078.

079.

080.

081.

082.

083.

084.

085.

1.5 8522 (one point five hectares) %4l GuR 5 A-2lHl2R arute ud 8. dl ga s2a syolls Hl2: arue
wda s ?

(A) 75 syolls Hle: (B) 750 syplls Hle:
(C) 7,500 sylls Hle: (D) 75,000 syeils Hl2
(112x5*) 4 yeu3eq i ?

(A) 67,000 (B) 70,000

(C) 76,500 (D) 77,200

Auis 514 6 [Bauui, B do s 8 [ZauHi 531 3 69, C ad wulld A2 B g1 d s11 3 [Bauniyel s34
8. ol &4 1YL 3L 3,200 Sl dl C A S2e Y Heu 8l ?

(A) 1,600 3L (B) 1,200 3L.

(€) 400 31. (D) 325 3L.

QA Q4L kel atu yd usta vgad- sie s as o ?

(A) diea t1Rs 9l Esaa wHlA (B) el 2@t

(C) sidR-1L wiscuoll ol (D) Hiélawyy Helr

A1 Y4 siA dcasudl G (philosopher’s wool) d<l3 i 2ud ¢ ?
(A) [Bs saids (B) (3% ez

(C) s us2e D) (35 215253

AL AL R 533 €9 —UR AU 5y AL erma 52 9 ?

(A) Ma-ia (B) 2aldiua 113

(C) s A3 (D) s1Ris 2103

MRAHL Al ay YA (Mangrove)-l dail suL A%UHL 04 ¢ ?

(A)ulZax sidun (B) 5

(C) 211d (D) 218l

dl e s (The Laskar Award) st &xt-l s1190<) uoto1 2uami 2ud ¢ ?
(A) wng [Asuq (B) g [Asuq

(C) aclledl [Qsun (D) uuR [Asun

A4l 2%152a vidldre un (Radio active element radium) -l & S8 534 ¢l ?
(A) 20835 Y2t By Hsn 533l

(C) tiron3lln 3rsefln (D) 20461 2151
A0 WA ouorafl astuell avid (At the time of testing) HSTH ey 2dQ 8.
(A) sse (Dynamite) (B) A4\ (Ladders)

(C) 32 412 (Racing Car) (D) urwgye (Parachute)
A4, opALS AL AN (NBA) of ag Has su1220 8 ?

(A) sasTil (B) yal

(©)A~us (D) €leyore

AHLA S 6 PH R 524 gl €9 ?

(A) 4.52 41 4.75 (B) 8.25 41 8.35

(C) 6.45 9l 6.55 (D) 7.35917.45
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086.

087.

088.

089.

090.

091.

092.

093.

094.

095.

Qe soiiA 5B Ad ustaq w2 2L A auga D ?

(A) AR (Saldq) (B) $161 315U S

(C) S8 (D) sragios-t

S1AHi “Bone Death”«ll (3311 G 5L AGUHL Al HolE €9 ?

(A) Une (B) A%l

(C) [Bg12 (D) ms1Re

RURA ARSI+ ~Aal U124 HAAl (Health Minister) dl3 si8L s1AcUR Acudid ¢ ?
(A) 3l (3 Aoryg (B) #ll 24201l dwaiq

(€) 5l Hrige misdla (D) 4l . [3ua 8]

auRarll 59 Susllal s1aui Airbus H 125 8dlsieer (Airbus H 125 Helicopter) wilgal W2 $AR s34 87
(A) 357 vidlan dl. (Deccan Aviation Ltd.)

(B) (a3 241 adlfla (Woman Aero Services)

(C) »iu 2 udlfla . dl. (Air Charter Services Pvt. Ltd.)

(D) UH1B+2 14 (Paramount Airways)

A YA s @A MSME &aui waidlél d«€la (priority landing) Hi2 41y, aiuui 2uda €9 ?
(A) HilBal (Fishing)

(B) 1925 ¥t 2asie duR (Retail & wholesale trade)

(C) 98 Ge9= (Forestry)

(D) HaHll B2 i1 M Gewe (Bee keeping & production of honey)

“Personnel Management and Public Administration” tlltld S1AHI MIRd USI $UL 22 A1A 6l6S
549 ?

(A) yruses [(Basu (U.K.) (B) it (Japan)

(C) louyR (Singapore) (D) Al (China)

Q- WAL 58 A “Genomic Variants of Oral Cancer” 2431 %33 MRl sis-ld s34 €9 ?
(A) 11T - Delhi (B) DRDO

(C) ICMR (D)DBT - NIBMG

2SI vid dloa-iR 2Alaxdlsui “Flag bearer for the Indian contingent” a<ls si-ll lugjs ada ¢ ?
(A)M.C. 4514 A wla Ay (B) Mt si21e 244 243fld uzeS

(C) &l g1 211 Hla Siglls (D) Yrllet §HIR i1 Yo -l

g cwmill 8631 anaiis (86th Birth day) sa12 G edl ?

(A)6 s (B) 7 geus

(C) 8 s (D) 9 g

WAL HELL, 220 27 A%a-l ALl WA 56 A2t wlou & ?
1. SL A, A, AAwR $L 28U — [auuzy, xisuee
2. Addlws Hign ga R um — A, 2um

3. Jlaeual 24uu (Aishbagh Stadium) — @wiqG, Gl Meal
4. aas HindloL 2 um — Beuyr, A

(A) 4 (B)3

(©)2 B)1
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NN =\

096. QU UL 211 218 1 su-l Al wiey Ad dusal.

A~

1. e 215l a. geulld
2. x13ld [Baun su b. (552
3. DMC 218l c. oiglvert
4. gaR 218 d. €l
(A)1-b,2-d,3-c,4-a B)l1-a,2-b,3-d,4-c
©1-d,2-¢c,3-a,4-b (D)1-c,2-a,3-b,4-d
097. &Rl W8a AsulAst 27 dzii-i eyl A2 WAL 56 Al dlou el ?
(A) 3L, 242 AL — arufd st (B) L. gl Io-uas — Uil A4

(C) 3t. ulau A4 —uidlai-l 0 alaru (D) St meL Rma — ollepaBlari 1Rl
098.  wRarviandluil - -l Al WAL 56 Adl2al ulou €9 ?

1. - Al — tig[fren

2. 43l 511 — dlZely

3. ol si212 — grdlonss

4. oy A4 — o

(A1 B)2
(C)3 (D)4

099.  “NIPUN” dlo-ll $UL HALAY 1AL A3 SAUHL 20dd ¢ ?
(A) S1Md 21 sleolls Wnay (B) Qa2 H-nax
(C) vidleudl H-unaxn (D) A {4

100.  NA UL 58 sudlA e-ls V (Sputnik V) HiRdHi Baungn a1 Hydl wAa 8 ?
(A) sucu (Balaji) tuai2s (B) 2ugled (Aditya) culAl®sa
(C) 38lan (Cadila) s1Hl (D) wAflun (Panacea) cuais
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101.

102.

103.

104.

105.

106.

107.

108.

109.

AU URA s s e nda 2i0l-l (Al uealdaiqu Aeeinl A 2uda WA s3/sai
[Qa/lasunl w20 97

I 2 Sl Ui s2 sARA, Ul A wired [A2ami 2udviand 241 oligand 1R €.
1. uRau-l 2 At GAldHE AHI 8, 1R 208001 3 Bewrg A Galla ay ML 8.

A | o (B) W 11 %

(C) 1 A 11 6iA (D) 1w 214 11y«
D2l WA 56 org-ArdlU Ul uorin vonaall Ul 2142 97

(A) delluslsa uél (B) @lioulas uél

(©) o1 5<la udl (D) Guaniall 25U 4l

852 A sl Rigid g2, ARZIHT dAUHS AUM 217 AHidRANIY AR Aldl Head s1301 9

897

(A) Hiarl Rald (B) wl¢zR

(GEIUIERRER] (D) andaz uRen

duRrale 2idld A1 U sy (A vilg 97

(A) 20 2[5 Baysld x50 YAUHL AFAASIR (2 2224)g1R1L @M 1500 &l 1700 L idHi
$AUML 2 8,

(B) 02l AwRH YRid 2ndl uldidl Aultini aul 530 a3 .

(C) dURHI YRid 2nadl HIZ U1 SA&Y 215 2UaUs A4 8.

(D) dwiRA -0l 24 (R UM AH) MM il A el dedl €35 AR FllER d-l dit 4
A3 .

R 25 Bewrgr seH YRuul U [BHd 214 ay sidam Rutar 2uad gl sleaami 2ud 8
UTER: SR PRETCTERIERS )

(A) AuR [Q69¢ (B) duR %+

(C) AWIR 3143 (D) Aldslla sl 24

Y A, 2., 5931 2 W BAS AR Brir AR S Yod R A su1 anHi @y saumi udl?
(A) 1994 (B) 1990

(C) 1992 (D) 1993

SAARCH AR dl. 17 2-y2usl, 1987 UL A% sul ASWML 2ed sUMT 20?
(A) a5l (B) WA

(C) 51643 (D) Ay

dugadl garu Aecl [Agell s ud 2uasi .......... Al e saHi 20d 69,
(A) 48l vl (B) uig, vudl

(C) AR vl (D) GuRlsd U4l »is a1l

i 82 HI2 Heugt [Aeell |l Asta-i cued (Al DA U4 sy Qa0 el?
I wR[és weua (el 4 Astaell agrnin eaqd dueadl gl Weus i 6.

1. R Sufloll dHil 8¢ SAME 451 5AR YAt U 53 6 AR uHi- el daerill dauni Yl
3l

(A) WA | o B)u 11
(C) 1 u 11 6id (D) 1w 24 11y«
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101.

102.

103.

104.

105.

106.

107.

108.

109.

Which of the statements given below is/are correct in the context of various entry modes through
which international business is operational?

I. In a turnkey project agreement, a firm agrees to design and construct an entire plant in a
foreign country.

Il. Licensing is common in service industries whereas franchising is more common in
manufacturing industries.

(A) | only (B) 11 only

(C) Both I and 11 (D) Neither I nor 11

Which one of the following multinational firm follows a host market oriented policy?
(A) Ethnocentric firm (B) Geocentric firm

(©) Polycentric firm (D) None of the above

What is the most important cause of comparative advantage and international trade among
nations, as per the Heckscher and Ohlin theory?

(A) Demand conditions (B) Tastes
(C) Trade policies (D) Factor endowments
Which of the following statements about the Mercantilism is incorrect?

(A) This economic philosophy was followed by nation-states in Europe from about 1500 to the
late 1700s.

(B) Nations could increase their wealth by maintaining a trade surplus
(C) Government intervention was an essential instrument to maintain trade surplus.

(D) Trade was considered not to be a zero sum game therefore every trade partner could benefit
from it.

When domestic production is replaced by imports from a lower cost and more efficient producer
within the custom union, it is called

(A) Trade deflection (B) Trade creation
(C) Trade diversion (D) Dynamic welfare effect

From which year the North American Free Trade Agreement among the United States, Canada
and Mexico came into force?

(A) 1994 (B) 1990

(C) 1992 (D) 1993

In which city the secretariat of the SAARC was set up on 17 January 1987?

(A) Dhaka (B) Male

(€) Kathmandu (D) Thimpu

In the context of Balance of Payments, income on foreign investment is included in the
(A) Capital account (B) Current account

(C) Trade account (D) None of the above

Which one of the following statement is not true about benefit of foreign direct investment to
the host country?

I. Host country receives a balance of payment boost from initial FDI.

I1. When companies repatriate profit pact to their home countries, Balance of payment situation
of host country will be improved.

(A) I Only B) 11 Only
(C) Both I and 11 (D) Neither I nor 11
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110.

111.

112.

113.

114.

115.

116.

117.

118.

A2 Q5L sUL 2 A eu @igin-l walds Gaeu dl?

(A) ALdRARZLA URUEU USSR UleALS L 2,

(B) [AlAnaudl Radid Wictie »uud.

(©) [asrslla 2anmi vl 2As4i-l glgn UelBa 5304 2ulAs (@511 Wius 2uud,
(D) dwigrill deuni Hesel vuqMadl ARAA AAAAL GUasy suac.

(A2 v A28l AN HINGIHE A2 21221 56 92

(A)ruau ivid) ulRug (B) caruR -lld s

(C) -1 ulRug (D) [Gene umutun s

cudly Aue i [ARre 2ulds &a (SEZ) SIUel suL aiui u1R scumi 2ucl?

(A) 2006 (B) 2005

(C) 2000 (D) 2007

(A2 [Asami cudnl [0 2 250 4l qaidA ......... sl MR-l (g2 e Hlld (2015-2020) 4
CEITER

(A) 2.5 251 (B) 3251

(©)3.5 251 (D) 4 251

‘Asiar (Czinkota) grt 1A WAL 53 A5lU AviH a3 adllgd efl?

(A) U4 RiviBd Avin (B) Wula4) AciBa Avin

(C) 512030 AoilAd Avn (D) 52012l Aoildd Aun

Sgiy [l ueudl (Laissez faire)Hi -l U8l 53 atn? yridld 67

(A) [ 12 d = (B) 3+l 2d 20l ALt

(C) uailas) usuel (D) o122 mduqa

Rasad su-lluioll w5140 andR R sUHE 2uadl ouRyd sl SAidQA ........... s8al 69,
(A) AZlUSWA (B) v $:9

(C) ol (D) 3uidreL

A siflu Ala (00 A suda sd/sa [Qaq/laanl /e 872

I 25€2 HIdAME atRLd A uReum »ud 8 R Agsidlu [Ade ey €2 8213 8. AR d 51613
2U62 $552 sSUHl 21d 6.

1. sl Qa2 22538 vl a1 5271 A5E3 A Qdldl w51 udeollaia deldla 52 ©.
(A) A (B)w 11

(C) I 24 11 bid (D) I 244 11 wigll 2isuet €.

Aiglds [Alagdiu Aaan doifa 6 [ [QuRiiA 2uqui Al

I ae13 (ARl W 6 5 agani usn dads [Qeani ua usn 2.

1. org-aiglas (AR Aiglas [Mtdid Aaa 12 Aqga el edla 52 6.

GuR 2wden WA sy/su [Qas/Qan-l )/ 87

(A) WAt | o (B) ot 11 %

(©))1 i1 11 6iA (D) 1wl 24 11y«
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110.

111.

112.

113.

114.

115.

116.

117.

118.

Which one of the following is not the primary objective of the IMF?
(A) Promote international monetary co-operation.
(B) Promote exchange stability.

(C) Promote economic development by encouraging the growth of private enterprises in
developing countries.

(D) Makes resources available to members experiencing balance of payments difficulties.
What is the Apex body in the WTQO’s organisation structure?

(A) Ministerial conference (B) Trade policy body

(C) General council (D) Dispute settlement body

In which year the Special Economic Zones (SEZ) Act was passed by the Indian parliament?
(A) 2006 (B) 2005

(C) 2000 (D) 2007

Target of India’s foreign trade policy (2015-2020) was to increase India’s share in world export
from 2 percent to

(A) 2.5 percent (B) 3 percent

(C) 3.5 percent (D) 4 percent

Which one of the following is not classified as political risk by Czinkota?

(A) Firm specific risk (B) Ownership risk

(C) Operating risk (D) Transfer risk

Which one of the following has greater association with Laissez Faire system?
(A) Mixed economy (B) Centrally planned economy
(C) Totalitarian system (D) Market economy

The forced transfer of assets from a company to the government without compensation is
called

(A) Nationalization (B) Expropriation
(C) Confiscation (D) Adaption
Which of the statements given below is/are correct regarding fiscal policy?

I. Anincrease in aggregate demand that results when a fiscal expansion lowers the interest rate
is called the crowding out effect.

I1. Fiscal policy refers to the government choices regarding the overall level of government
purchases or taxes.

(A) I only (B) 11 only
(C) Both I and 11 (D) Neither I nor 11
Consider two different schools of thoughts regarding management of cultural diversity

I. Practical school of thought believes that a manager successful at home will be successful
abroad.

I1. The cross cultural school of thought argues for conditioning to accommodate cultural
differences.

Which of the statements given above is / are correct?
(A) I only (B) 11 only
(©) | and Il both (D) Neither I nor 11
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Which of the statements given below is/are correct?

I. Effective revenue deficit refers to the excess of revenue expenditure over revenue receipts
I1. Primary deficit is measured as fiscal deficit less interest payments.

(A) I only (B) 11 only

(C) I and 11 both (D) Neither I nor 11

Which one of the following international institution was set up to promote trade and development,
especially of developing countries?

(A)UNCTAD (B) WTO

(C) GATT (D) IMF

What is the main objective of the statutory audit?

(A) To detect errors and frauds

(B) To provide an assurance as to the viability of the business of the entity

(C) To certify that the books of accounts are correct

(D) An expression of opinion on the truth and fairness of the financial statements
Which of the following statement is true?

(A) Revenues should be recognized only when cash is received

(B) Prudence is a concept to recognize the unrealized profits but not the losses
(C) Accrual concept implies accounting on cash basis

(D) According to cost concept, goodwill should be recorded in the books only when it is purchased

In which ratio the profits and losses are to be shared by the partners when the partnership deed
is silent?

(A) In the ratio of their capital (B) In the ratio of their drawings
(©) Equally (D) In the ratio of their current account balances

P and Q share profits and losses of a partnership firm in the ratio of 5:2. R was admitted as a
partner and P surrendered 1/5t of his share while Q surrendered 1/2 of his share in favour of R.
What will be the new profit-sharing ratio?

(A)4:1:2 (B) 1:1:1

(C)5:2:2 (D) 4:2:1

What is the Gaining ratio?

(A) The ratio in which the continuing partners acquire the outgoing partner’s share

(B) The ratio in which the compensation is payable to old partners usually by the new partner
(C) The ratio which is determined by subtracting new ratio from the old ratio

(D) The ratio in which the old partners share the goodwill premium brought in by the new
partner

What is ‘Insolvency of a firm’?
(A) A situation where the realizable value of assets is insufficient to meet the outside liabilities
(B) A situation where all the partners except one are insolvent

(C) A situation where the realizable value of assets plus the maximum possible contribution by
the partners from their personal estate are insufficient to meet the outside liabilities

(D) A situation where partners are unable to bring in any cash from their private estate
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According to Section 52 of Companies Act, 2013, a company cannot use the money received in
the form of securities premium for

(A) Writing-off preliminary expenses of the company

(B) Distributing as dividend in cash

(C) For purchase of its own shares

(D) Writing-off commission paid on issue of shares or debentures of the company
Which of the following statement is not true?

(A) In case the shares have been issued at premium and premium has been fully collected but
subsequently those shares are forfeited, the securities premium amount received is to be
cancelled

(B) A company may pay dividend on on calls - in - advance paid by the shareholder
(C) Interest on calls- in - arrears is charged by the company from the shareholder
(D) Authorized capital is also known as nominal capital

While preparing cash flow statement, interest income received from long term investments and
loans and advances are treated as

(A) Cash flow from operating activities

(B) Cash flow from investing activities

(C) Component of cash and cash equivalents

(D) Cash flow from financing activities

Which of the following statement is true about the reconstruction of companies?

(A) Consolidation of shares means converting shares of large denomination to shares of smaller
denomination

(B) Sub-division of shares means converting shares of small denomination to shares of larger
denomination

(C) Reconstruction expenses are credited to reconstruction account
(D) Reconstruction account is credited for appreciation in the value of an asset

Hexa Ltd. acquired 80% shares of Vexa Ltd. At the time of acquisition Vexa Ltd. had share
capital of Rs. 5,00,00 (50,000 equity shares of Rs. 10 each), general reserves Rs. 2,00,000, surplus
in profit and loss account Rs.3,00,000, current liabilities Rs. 5,00,000 and Property, plant and
equipment of Rs. 15,00,000. At what amount the minority interest in the consolidated balance
sheet of Hexa Ltd. and its subsidiary will appear?

(A)Rs. 2,00,000 (B) Rs. 3,00,000
(C) Rs. 1,00,000 (D) Rs. 8,00,000

Mago Ltd. sells bulbs at a unit price Rs.60 with per unit variable cost of Rs. 40. If the fixed cost
of the company is Rs. 60,000 and it is subject to a tax rate of 25%, how many units of the bulbs
it must sell to make after-tax profit of Rs. 30,0007

(A) 3,000 units (B) 5,000 units

(C) 1,500 units (D) 4,500 units

Which of the following statements is not true for activity-based costing (ABC)?

(A) ABC is more accurate and reliable system of determining the product’s costs

(B) Cost pool is like cost center

(C) Activity cost driver rate is computed as the ratio of total cost of activity to cost drivers
(D) ABC is mostly suitable for small organizations
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1,000 kg of raw material @ Rs. 6 per kg was introduced in the process. Rs. 5,000 was spent on
labour and Rs. 1,600 spent on direct expenses. The allocated indirect expenses to the process
were Rs. 1,000 and 10% of inputs are normally spoiled that can be scrapped
@ Rs. 1 per unit. 50 units were lost by fire. Calculate cost per unit.

(A)Rs. 15.00 (B) Rs. 15.88
(C) Rs. 13.50 (D) Rs. 13.60

Nilima produces calculators at unit price of Rs. 130. The fixed cost of production is
Rs. 5,000 and fixed advertisement cost is Rs. 1,500. If there is market demand for 250 calculators,
at what price she should sell these calculators to make a profit of Rs. 20,000.

(A) Rs. 230 (B) Rs. 236
(C)Rs. 210 (D) Rs. 216

While applying decision in Garner vs Murray case, what is ratio in which the loss due to
insolvency of partner should be borne by the solvent partners?

(A) Profit sharing ratio
(B) Ratio of their final claims
(C) In proportion to their last agreed capital

(D) Equally

What are the ‘Quick assets’?

(A) Current assets minus inventories (B) Current assets minus cash

(C) Current assets minus debtors (D) Current assets minus current liabilities

What is ‘Interest coverage ratio’?

(A) Ratio of Profit after tax to interest expenses

(B) Ratio of Profit before tax to interest expenses

(C) Ratio of Profit before interest and tax to interest expenses

(D) Ratio of cash flows from operating activities to interest expenses

Determine the sales of a firm if current ratio is 1.4, acid-test ratio is 1.2, current liabilities Rs.
2,000 and inventory turnover ratio is 8 times

(A) Rs. 3,200 (B) Rs. 2,800

(C) Rs. 2,400 (D) Rs. 3,000
Cash and cash equivalents do not include

(A) Demand deposits with banks

(B) 90 days treasury bills

(C) Short term investment in marketable securities

(D) Amount invested in equity shares

Notional Cost is also known as:

(A) Explicit Cost (B) Imputed Cost
(C) Out of pocket Cost (D) Sunk Cost

Which of the following Cost Accounting Standard (CAS) deals with the treatment of packing
material cost?

(A) CAS-3 (B) CAS-6

(€) CAS-9 (D) CAS-12

Cost of drawing, design and layout is an example of:

(A) Direct Expenses (B) Administrative Overheads
(C) Direct Wages (D) Indirect Cost
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The repairs and maintenance expenses of a machinery at 6,000 machine hours run is
Rs. 1,12,000. If it runs for 9,000 machine hours, it will incur repairs and maintenance cost of Rs.
1,48,000. What will be the cost at 12,000 machine hours run?

(A) Rs. 2,24,000 (B) Rs. 1,94,000
(C) Rs. 1,74,000 (O)Rs. 1,84,000

When the inventory is valued at the most recent market prices, it is most likely that the valuation
is based on:

(A) FIFO Method (B) LIFO Method
(C) Weighted Average Method (D) Standard Price Method

A company produces a particular component in batches. Annual requirement is 48,000 units:
set-up cost per batch is Rs. 1,200. Annual stock holding cost is 10%. Cost of production per unit
is Rs. 200. What will be the economic batch size in units?

(A) 4,000 (B) 3,600
(©))2,400 (D) 1,600

A material of 7,500 kgs. was introduced in the process and the expected loss is 8%o. If the actual
output is 6,750 kgs. then there is a

(A) Abnormal Gain of 200 kgs. (B) Abnormal Loss of 200 kgs.
(C) Abnormal Gain of 150 kgs (D) Abnormal Loss of 150 kgs.

A company earned a profit of Rs. 80,000 on the sales of Rs. 4,00,000 in period 1. It’s profit
increases by Rs. 20,000 on the sales of Rs. 4,50,000 in period 2. What will be the P/V ratio of the
company?

(A) 50% (B) 30%

(C) 25% (D) 40%

Which of the following is not related to the key ratios in variance analysis?

(A) Solvency Ratio (B) Material Price Variance Ratio
(C) Labour Efficiency Ratio (D) Capacity Utilization Ratio.

SR Ltd. purchases 6,850 kgs. of material for Rs. 21,920. The material price variance is
Rs. 1,370 (F). Assuming no opening and closing stock of material, what will be the standard
price per kg. of the material?

(A) Rs. 3.00 (B) Rs. 3.20
(©)Rs. 3.40 (D) Rs. 3.60

RS Ltd.is has a net working capital of Rs.5,00,000. Its current and liquid ratios are 1.8 and 1.4
respectively. What will be the value of stock?

(A) Rs. 2,00,000 (B)Rs 2,50,000
(C) Rs. 3,50,000 (D) Rs. 3,00,000

In arriving at the funds generated from operations, the amount appropriated in the Profit and
Loss Account towards transfer to general reserve will be:

(A) added back to the reported profit
(B) deducted from the reported profit
(C) treated as application of fund in the fund flow statement

(D) need not be adjusted anywhere
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A method of budgeting whereby all activities are revaluated each time a budget is set is known
as:

(A) Performance budgeting (B) Zero base budgeting
(C) Conventional budgeting (D) Programme budgeting

If a consumer always spends one third of his income on clothing, then what will be the price
elasticity of demand for clothing?

(A) 0.15 (B) 1.00

(C)1.33 (D) 0.33

Income of farmers fall after a good harvest because agriculture commodities have a price
(A) elastic demand (B) unit elastic demand

(C) inelastic demand (D) unit elastic supply

If the price of a product is Rs 10 and the marginal revenue is Rs. 5, what will be the price
elasticity of demand for the product at that point?

A) 2 (B) 5
©)1 (D) 10
Which of the following statements is/are correct?

I. Incidence of indirect taxes borne by the producers and the consumers will depend on the
elasticity of demand and supply.

Il. In case of perfectly inelastic demand, the whole incidence of the indirect tax falls on the
consumer.

(A) I only (B) 11 only
(©) | and Il both (D) Neither I nor 11

If the marginal rate of substitution between good X and Y is 4 and the price ratio (Px/Py) of X
and Y is equal to one, then the consumer can increase his or her satisfaction by

(A) purchasing less of Y and more of X unit (B) purchasing more of Y and less of X unit
(C) purchasing more of Y as well as X unit (D) purchasing less of Y as well as X unit

X is a normal good, and Y is an inferior good. If price of both the goods as well as the income
level of consumers increases proportionately then the utility maximising level of both will

(A) Increase proportionately (B) Decrease proportionately
(C) Remain same (D) Increase

What is the “Price floor’?

(A) It sets a legal maximum price at which a good can be sold

(B) It always determines the price at which a good must be sold

(C) It sets a legal minimum price at which a good can be sold

(D) It always determines the price if it is set below the equilibrium price
An inferior good is one for which an increase in income will result into
(A) Increase in supply (B) Decrease in supply

(C) Increase in demand (D) Decrease in demand
When an isoquant is a straight line, inputs are

(A) Perfect Substitutes (B) Perfect Complements
(C) Independent to each other (D) Used in fixed proportion
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An economist measures a firm’s economic profit as the firm’s revenue minus
(A) Explicit Cost (B) Sunk cost

(C) Implicit Cost (D) Explicit and Implicit cost

In the context of short run, which of the statements given below is/are correct?

I. Since average fixed cost decreases over the entire output range, average total cost becomes
increasingly close to average variable cost.

Il. The marginal cost curve crosses average variable cost curve at its minimum.
(A) I only (B) 11 only

(C) Both I and 11 (D) Neither I nor 11

Which of the statements given below is / are correct?

I. Internal economies and internal diseconomies cause the long run average cost curve to shift
down or up

I1. Shape of the long run average cost curve is affected by external economies and diseconomies
of scale.

(A) I only (B) 11 only
(C) Both I and 11 (D) Neither I nor 11
In the context of perfect competitive market, which of the following statements is / are correct?

I. In the short run the firm chooses to shut down if the price of the good is less than the average
variable cost of production.

I1. A firm chooses to exit if firm is making zero economic profit in the long run.

(A) | only (B) 11 only

(C) Both I and 11 (D) Neither I nor 11

In the short run, the competitive firm’s supply curve is the

(A) Entire marginal cost curve

(B) Portion of the marginal cost curve that lies above the average variable cost curve
(C) Portion of the marginal cost curve that lies above the average total cost curve
(D) Upward sloping portion of average total cost curve.

Which of the following statement about monopoly in long run equilibrium is incorrect?
(A) A monopoly has no supply curve.

(B) A monopolist will prefer to sell in the inelastic range of its demand curve.

(C) The equilibrium price can never fall below long run average cost.

(D) Monopolist will prefer to exit if it is not able to make economic profits.

A natural monopoly arises when

(A) There are economies of scale over the relevant range of output.

(B) Government has given one firm the exclusive right to sell some goods or services.
(C) Firm control the entire supply of raw material required to produce the product.

(D) Firm own a patent or copyright which prevents other firms from using a particular
production process or producing the same product.

AWL - MASTER ] 30 [P.T.O.


CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight


170.

171.

172.

173.

174.

175.

176.

177.

[3ua dlecnaqi Aeeini 1A 2uda [l WA 54 /s [/l e a0 e ?

I oA el el Alss ol HIG A [Alay oroui gl Hid yeuriadl aH §id dl, [BHd decua
5301 U4l -l 2uas 29 sl auRl 530 asdl 14l

1. [BHd Hecnan vmaui dad w2 4dl we o330 6 5 argll [Bud u aig R sia.

(A) =t | % (B) WA 11 %

©)1 211 11 i (D) 1 214 11 1id) 516 )
Gaowmi Uil aA-l 2utRadl a1 A1 A .......... Al [Qlare cnaldisan e,
(A) SaR1Y5d 8518 (B) Acus s SRl

(C) val &35S (D) [Bud clecuaa SRl

Wsals BralRaie (@el DA 2uda U6 sy 0 el ?

(A) dlsdls BrdRaiRaA 51260 8- siiam adell YRR a6,

(B) d Qitlou Beulg saHAlL 2 5181 W 6i”d-] vt 20l €.

(C) wuR HidL Ul 244 wiis Yls uma-l a2 giu cu dlsais BudlRaie yaqaHi 2ud ©.

(D) Graiani dl Udl2iAl UdAHD ArHA BL3al Al d §R s Ulsals BuaRaike -l
YrLAUH 20d 69,

Ul Ueds Beule sl Beurgt WS-l wiot ......... Sl R Ayl 8351 vad €.
(A) iysl 28 (B) iyl i
(C) isH A& (D) ¥isH AU& sdi atIR

DA A4 Sudl-l S3adl usaz s wal. surll 3 % [(Blas~3-l ysaellui 596 -l Add 9B 4d 8, g ad
su-lA uld 942916 3. 1 BlAss 35 & 2 Surll-n (3l A2 adHiq tronz [ud 3. 20 ©.

(A) 12.25% (B) 8.25%
(©)10.25% (D) 10.00%

25 Surlll Sadl 38 usdr 1296 8 i 2 8% L 6112 WMl e 8. RBruRoL deidr 40% 6.
524211 €2 30% ¢9. Su-dl-l culRa w2 Y usdz sl w9l?

(A) 10.40% (B) 9.88%

(C) 7.20% (D)9.44%
NsUAL AidlRS ANA-UL €3 Alvv] adui Y 524 Sl 8

(A) e~ (B) s 5l 2ileg
(C) ¥1s $Rdl Al (D) 25 %24 o

A0 UL £y [Qenq vl 97
(A) YA Huei )l uRRAlAH 45151 5a1 s 2 [Alay euidld Heuis sa W2 AUE HY 6.

(B) 3l tizgell Alvuit adHid Yeu U xRS and el utaldini y-: s [y g1 wren
[ARiaeu=ll uReuml cudl as €.

(©) [3uell andz-il €2, Alvv] aduin HEL 21 2ANidRs and-l e 2 il oige-ll Adl asRs & 5 %
3R AU Yeud uHHE A O A d eusla AL Al HeaHlseL HUES 08 YRivld

8.
(D) Hdl ige-l Yeuis HI A3 NSl HIUES 1 [S100l 4511 HIUES s2al Alduidl €.

AWL - MASTER ] 31 [ Contd.


CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight


170.

171.

172.

173.

174.

175.

176.

177.

In the context of price discrimination, which of the following statements given below is/are
correct?

I. Afirm cannot increase its revenue and profits by practicing price discrimination if the price
elasticity of the demand for the product is equal in different markets or for different customer
groups.

I1. The firm must have some control over the price of the product to practice price discrimination.
(A) I only (B) 11 only
(C) Both I and 11 (D) Neither I nor 11

Interdependence or rivalry among firms in the industry is the distinguishing characteristic
of

(A) Monopolistic competition (B) Oligopoly

(C) Perfect competition (D) Discriminating monopoly

Which one of the following is not true about peak load pricing?

(A) Peak load pricing ensures more efficient distribution of the resources

(B) It ensures cost saving on account of planning a productive capacity in the long run.

(C) Peak load pricing is suggested when demand varies between peak and off peak periods.

(D) Peak load pricing strategy is adopted to reduce or eliminate the threat of entry of new firms
into the industry.

Perfect competition prevails when the demand for the output of each producer is
(A) Perfectly inelastic (B) Perfectly elastic
(C) Unitary elastic (D) Greater than unitary

Which of the following is the cost of equity of the company having 5% constant growth in
payment of dividend, last year the company paid dividend of Re.1.00 per share and the current
market price of the company’s equity share is Rs. 20?

(A) 12.25% (B) 8.25%

(€)10.25% (D) 10.00%

A company has an equity cost of capital of 12% and a debt is issued at 8%. Its gearing ratio is

40%. The tax rate is 30%. What will be the Weighted Average Cost of Capital (WACC) of the
company?

(A) 10.40 % (B)9.88 %

(C)7.20% (D)9.44 %

At internal rate of return of a project, the Net Present Value (NPV) tends to be:
(A) zero (B) less than 1

(C) more than 1 (D) equal to 1

Which of the following statement is false?

(A) Profitability Index (PI) is the relative measure to evaluate different proposals under capital
rationing situations.

(B) The assumption of different reinvestment rates may cause a conflicting results under NPV
and IRR methods of capital budgeting.

(C) Accounting Rate of Return (ARR), Net Present Value (NPV) and Internal Rate of Return
(IRR) techniques of capital budgeting consider time value of money and are consistent with
the wealth maximization criterion of financial management.

(D) Cash flow criterion is superior to accounting profit to evaluate capital budgeting
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A financial lease is preferred in which one of the following situations:

(A) when lessee wants to have full control and title over the asset

(B) when the long-term stability of the asset is uncertain

(C) when lessee wants to use the asset but does not have the required funds to invest
(D) when the asset is subject to rapid obsolescence.

Which of the following will not prolong the operating cycle of a firm:

(A) purchase of material in excess of requirements

(B) lack of production planning, coordination and control

(C) use of outdated technology and machinery

(D) holding of excess balances in cash and bank

Which one of the following is a common source of finance for a small business?

(A) Bills discounting (B) Bills acceptance

(C) Factoring (D) Commercial paper.

Time value of money is not related with which one of the following:

(A) inflationary conditions in the economy (B) preference for present consumption
(C) the possibility to increase profits (D) investment opportunities in the economy
Consistent with capital market theory, systematic risk

(A) is described as firm specific risk

(B) refers to the variability in all risky assets caused by macro-economic and other aggregate
market-related variables

(C) is measured by the coefficient of variation of returns on the market portfolio
(D) refers to diversifiable risk

If inflation in the United States is relatively higher than inflation in Japan, and the Japanese
government wants to keep the exchange rate fixed between the Yen and the US dollar, it should
most likely

(A) allow its currency to rise against the dollar
(B) decrease the supply of yen in the market
(C) allow its currency to fall against the dollar
(D) increase the supply of yen in the market

A stock currently sells for $25 per share and pays $0.25 per year in dividends. What is an
investor’s valuation of this stock if she expects it to be selling for $30 in one year and requires 15
percent return on equity investments.

(A) $30.24 (B)$26.30
(C) $26.09 (D) $27.74

When the exchange rate for the euro changes from $1.00 to $1.20 then, holding everything else
constant, the euro has

(A) appreciated and German cars sold in the United States become more expensive.
(B) depreciated and American wheat sold in Germany becomes more expensive.
(C) appreciated and German cars sold in the United States become less expensive.
(D) depreciated and American wheat sold in Germany becomes less expensive.
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The functions of the International Monetary Fund include all of the following except:
(A) to provide emergency loans to countries facing balance of payments problems.
(B) to monitor macroeconomic developments continuously in member countries.

(©) to serve as the world central bank

(D) to provide a line of credit for each member country.

Which of the following statement is false?

(A) The firm can finance its projects through retained earnings at no explicit cost.
(B) The rate of dividend and dividend pay-out ratio are same

(C) MM model states that dividends are irrelevant to the valuation of a firm.

(D) In the arbitrage process of MM model, the dividends paid by a company are replaced by
fresh investments.

A school has two sections of matriculation, section A and section B with 60 and 40 students
respectively. In a test conducted for a particular subject, the average score of students of section
A was found to be 65 while for the students of section B the average score was 55. What will be
the average score of the students of both the sections combined?

(A) 60 (B) 59

(©) 61 (D) 62

Which of the following statements is not true with respect to median?

(A) Median is a positional average

(B) It is not sensitive to extreme values as is the mean

(C) It is a good average for qualitative research

(D) Median cannot be calculated for scale data

In a positively skewed distribution

(A) Both mean and median are equal (B) Mean is greater than median
(C) Mean is smaller than median (D) Mode and mean are equal
Which of the following statements is not true for standard deviation?

(A) It is a measure of dispersion

(B) It is independent of change of origin but not of scale

(C) It is the positive square root of the squares of the deviations of the given observations from
their median

(D) For a symmetrical bell-shaped distribution, mean + 3. ¢ covers approximately 99% of the
observations

The correlation coefficient is used to determine:

(A) A specific value of Y - variable given the value of X - variable

(B) Strength of linear relationship between two variables

(C) Strength of non-linear relationship between two variables

(D) Cause and effect relationship between two variables

If the coefficient of determination is 1, what will be the value of correlation coefficient?
(A) +1 only (B) -1 only

(C) Either +1 or -1 (D) Any value between -1 and +1
Which of the following is not true for two regression coefficients B, , and By,
(A) Two regression coefficients have the same sign

(B) Both the regression coefficient can assume values greater than 1

(C) Regression coefficients are independent of change of origin

(D) Regression coefficients are not independent of change of scale
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AEL A8 [Rudrdoin udlsey = o + BX + g 1l o 24 g eald 87

(A) X 1L 215 Vi5HHL 2AA $$1 Y L $S12 A8 As00AA €9,

(B) Y -l ¥s AsHHUL 2AA 5512 X ~ll $3512 118 U500 69,

(C) vigUya [asius

(D) aBllcHs A4

dlugl [Qaze w2 1A U4 56 ad Adayel Ad Yo ed)?
(A)maci-l vl 2 69,

(B) 835 Udel L WA 6l uRUR [Rars uReuHl, usndl =14 [Frsndimi ulRam .
(C) MUl A 8,

(D) €35 Udel HIZ ASULAL]L AGIAL AldAYEL €9,

QA WA sy [Qrn [Reel-u seui ariRl sa-t uRoum wd Yo 4)?
(A) [Real- seui auRl A ay qMd el [Ad as €1 6.

(B) [Reei-u seui arirl 8 weasl MHlBld Gpani auiRl 2 6.

(C) Mgl seui ariRl A ey udagi ay sadl icua- aqil €.

(D) [Real-i seui atnL 18 A st Hist 30 s atl 2 di t [Ade A Z [dde giri vigi as
8.

UsR- | -l M4 vi2d g?

(A) R d 1l Slu R Y ulRseunn 15120 steaml 2ud 69,

(B) SR d Wil 1A R Yu ulR5eunL As1aml 2uadl Al

(C) R d Wil glu _uR g uRseurr sl stecumi 204 €.

(D) R d il $lu R Y= uRseunt asiRami 2uadl 9.

QA UA £y [Qenq vl &7

(A) A2 22 3 s oUldlla ulsu € 3 A g3 AAEA 27 Yt 20 Hogl 20 6.
(B) visuuaized] Rud Rond aaq carvuidd 53 € 244 w1+l 3uvil sl sami Hee 3 9.
(C) 3 v utsld mu-a Ad [Aeduei 248 254 U sld siu 6.

(D) 2unt B[+ o2 Al Heazdl sHan Aseudll siu 69,

(A2 [Qedue (ANOVA) 2 2icdd didu €.,

(A) AL BriReldl WAl Al 2udean o [Rflaeiu Hieanfl amidll gaqi sa e, »is waidt
uS Al 21 s NUldLULL..

(B) s 1 61 sl ay AR HeasiHl axid-l da- sdl.
(C) R 2R 21 A=t id aaul 425w Sl 6.
(D) 2R 2R 241 A vind Al adllgd Sl 9.

[Qasiaq uislas sy uRav A .......... (G- walda uRawl 2192 o,
(A) At - ofle-l U 2225 (B) 6l 2ad= [Real t xaal z uRaw
(©) ol - you [Real t x21aa1 z uRaw (D) %5 d:51 ANOVA

AWL - MASTER ] 37 [ Contd.


CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight


195.

196.

197.

198.

199.

200.

201.

In a simple linear regression equationy = a + BX + g, what does B represent?

(A) Change in Y associated with unit change in X

(B) Change in X associated with unit change in'Y

(C) Estimated intercept

(D) Explanatory variable

Which of the following condition is not consistent for fitting binomial distribution?
(A) The number of trials is infinite

(B) Each trial results in only two mutually exclusive outcomes, success and failure
(C) Trails are independent

(D) Probability of success is constant for each trial

Which of the following statement is not consistent with the outcome of increasing the sample
size?

(A) Increase in the size of sample leads to a more normal sampling distribution
(B) The standard error of mean increases with the increase in sample size
(C) Increasing the sample size increases the probability of applying parametric tests

(D) With increase in the sample size if the degree of freedom exceeds 30, the t-distribution can
be approximated by Z-distribution

What is meant by type-1 error?

(A) Rejecting a null hypothesis when it is true

(B) Not rejecting a null hypothesis when it is false
(C) Rejecting a null hypothesis when it is false
(D) Not rejecting a null hypothesis when it is true
Which statement from the following is false?

(A) Research design is a dynamic process which permits modification and realignment during
the study

(B) Exploratory research design can help define variables and constructs of the study.
(C) The case study method is generally focused on a single unit of analysis.

(D) The moderator in a focus group discussion is always a participant.

Analysis of variance (ANOVA) is most suitable

(A) To compare essentially the equality of means of two observations taken from same respondent,
one before the experiment and one after the experiment

(B) To compare the equality of means of more than two populations simultaneously
(C) When both dependent and independent variables have metric measurement

(D) When both dependent and independent variables are categorical

Wilcoxon Signed-rank test is a non-parametric substitute of

(A) Mann-Whitney U statistics (B) Two independent samples t or z test
(C) Two paired samples t or z test (D) One way ANOVA
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wia(au uRaRi-l wvnHelHi Br-walda uRaeixi..

(A) UsIR- 11l & sUNT 2leg AvH 8.

(B) R walau uRaei-l yneid wen uHilbid sl R d ay usidl gia 6.

(€) wu1R g uRseur sRaMl 2ud —uR waldu uRaadl ga-uni 206 Alsuday s 1A 8.
(D) AMd [Aadla aufeHidl [Reel dadl 932 w3 8.

il el ulsaidl aiou s sul ¢ ?

(i) an2uudl (i) gaeedl Gledl sl (i) 59 Alusll

(A) (), (i), (iii) (B) (i), (iii), (i)

(C) (i), (ii), (i) @) (i), (i), (ii)

AR5 uaRatd AL WL Aeeini A W4 sy w2 el ?

(A) Azu-ll A1l 120 69, (B) ¢ sl visausadill vuasl

(C) G2 as-l4l vl (D) Ao sl AuLllHi Yarual
Q2 WA siel 21488 uaRadAH Ay 10l 20 97

(A) 215, 361y, 24 (B) WA wisR side

(©) 3 3laxn (D) 8l suiea

sl Rigla uidlo 214 21857 A4 wendl-l avumell u 2ualRka o ?

(A) >uB0l-l [agid 33 (B) #5312 [Rigia 254 214 iy

(C) 2zl SBadl-i Rugia (D) WigR 241 ciadiz-ll Rugia
ldmeuq g3u AR Rugiani a-ladl (Instrumentality) s2id €.

(A) siead Heu (B) 514203 24 S[Re9d ulReun qR-l A-2iviy
(C) Ut A $11 U AAHL {6iY (D) HRBUHS AN

A1 Q1B Hdl By [ugia (Path Goal Theory) Ade-l su Rigiani syl 2ud 97
(A) cgBsai [Rugia (B) Raldaa [sia

(C) @ [Agia (D) aduis [Rugia

su-llasll nly s il (CSR)-UL ud sl aid, (TBM) -t wuani DA U8l sy asulae «4?
(A) @lsi (B) ul as

(C) Herraln (D) sl

Hi2L Geurg Slu AUl Hina A a0 U4 5y aioy dd cavala 53 697
(A) s110<0 [Qeuat (B) 2wt [acuar

(C) it [aeuar (D) Acu [acua

i api--l 29 9.

(A) [alan sl o3[Rud, a3u 241 €35 11 W2 [RHriR sH- @zl
(B) A5 511 HI2 5390 i FAUAEIN2AAL AZUHE 25 uAL2 [QHn.

(C) 51§ 51 ULy ANd U W2 AL dal AgTH M eIl

(D) BURisd dxH
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Compared to parametric tests, non- parametric tests
(A) Have lesser risk of committing a type Il error
(B) Are more powerful when the basic assumptions of parametric tests are valid

(C) Yield a less precise conclusion as compared to the parametric test when the null hypothesis
is rejected

(D) Require the sample to be drawn from normally distributed population
What is the correct sequence of process of delegation of authority

(i) granting of authority (ii) creation of an obligation (iif) assignment of duties

(A) (), (i), (iii) (B) (i), (iii), (i)

(C) (i), (i), (i) @) (i), (i), (i)

Which one of the following is not correct for Matrix organization structure?

(A) Delegation of authority is easier (B) Unity of command is ensured

(C) High technical standards (D) Flexibility in assigning people to projects
Who among the following has contributed more on informal organization?

(A) F. W. Taylor (B) Mary Parker Follett

(C) Keith Davis (D) Henri Fayol

Which theory is based on comparison between Japanese and American management system?
(A) Ouchi’s Theory Z (B) McGregor’s Theory X and Y

(C) Adam’s Equity Theory (D) Porter and Lawler Theory

In Vroom’s expectancy theory of motivation, instrumentality refers to

(A) value for the reward

(B) correlation between job performance and desired outcome

(C) correlation between effort and job performance

(D) motivational force

Robert House’s path goal theory comes under which category of leadership theory?
(A) Trait Theory (B) Situational Theory

(C) System Theory (D) Behavioural Theory

Which of the following is not included in Triple Bottom Line (TBL) concept of corporate social
responsibility?

(A) people (B) planet
(C) philanthropy (D) profit

Which of the following correctly defines the Human Resource Department in a big manufacturing
organisation?

(A) Functional department (B) Line department

(C) Authority department (D) Service department

Meaning of job description is:

(A) Requirement of various jobs, nature and characteristics of people to be employed for each
job

(B) Factual statement in the form of duties and responsibilities of a specific job

(C) Minimum acceptable human qualities necessary to perform a job properly

(D) All of the above
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o HA%R (s12v-) L [Ralnued), sudl 21 ug ¢a |2 1L Al [RYsd 53 8. dl d- ™/
AL

(A) 1l ulacu (B) 2=, sHAIL AL HALANUT AR
(C) el WA (D) BuRlsd A

st Yeuisll riens ueafdil...

I $3 2uuadl yeald

I1. s8 (Grade) 2uucul ueald

1. 25 Raike yeald

IV. uRean ga-u ueala

(A) HiA (iv) % Y & (B) (iii) 2 (iv) ;2 8

(C) (i) 2 (ii) =n (D) (ii) 2 (iii) =0 8

[-HEAUs, Budl gL ad Yeuis-, el o 6121 YIS, SIS 6121 Y5 A sl yeuisnll 56
utfdel AR g2sl 9?

(A) 8qasll vuan (B) ad@sit 2u? 2udi RaiRd Hiugs
(C) 360 (330l yeuisn (D) BURisd dxA

A U 53y uix Alsdcai Hil aapiui wHa 4l?

(A)ul5aq (B) duld

(C) cuatens Radl (D) [Rruaaa

[Bur-ulalsaens 2lédmua g2,

(A) e 2L HiA oadl AsRIAS i % 8l U gan AAu$1R5 Ad ULl s W2 UL 33 8.
(B) 8 o vlsH W2 WRAGLEY - d- 21dl AS .

(C) e 21 51 urL oy wal visudl aieulas ae-u .

(D) A xAsHHL Adat Beut 53 6 214 ddl Gewesaid uldgn 21U $2 9.

D2l WA 54 A avnag uReuw sis as?

(A) il gty vitna (B) 514 idin

(€) R (D) Guas 25 urL 1l

auRdlu Rad tirgd AMRzus0L 5013 2Y?

(A) 1 dl =y, 1949 (B) 1 dl vy, 1950

(C) 1 4l »ilha, 1950 (D) 1 dl »ilh&, 1949

cuRdla Rasd oi-s gr1 souaru aguisdl Hlla 2 afla- seunia 2ua2 >uuiaani 2udl sdl
(A) du- 2 af@ld (B) 1t ulAld

(C) 2isR ¢ ulala (D) G uea ufla

MRAHE 23] [B1a e Aoilid A 2uden [l Lanui @l

I MuRAHE 231 [Brad 122 viot [Aslaa 6.

1. 202, oll. 208 Hi2ieu eudl 2330 [Biel uidir seoaui v 69,

Gu 2wden [Qa-iniedl sy [Qeu/Qanl u2jua 87

(A) A (B)w 11

(C) I 24 11 bid (D) I 244 11 wigll 2isuet .
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After the retirement of general manager (works), the company brings an outsider to fill this
gap. Benefit(s) is/are

(A) Fresh Talent (B) Increased morale of other employees
(C) Less cost (D) All of the above

Quantitative method(s) of job evaluation is/are

(i) Ranking method

(if) Grading method

(iif) Point Rating method

(iv) Factor Comparison method

(A) Only (iv) is correct (B) (iii) and (iv) are correct

(C) (i) and (ii) are correct (D) (ii) and (iii) are correct

Self-appraisal, superior appraisal, peer group appraisal and subordinates appraisal are the
four components of which of the following performance appraisal method?

(A) Management by objectives (B) Behaviourally anchored rating scales
(C) 360-degree appraisal (D) All of the above

Which of the following is not included in big five personality traits?

(A) Proactivity (B) Agreeableness

(C) Emotional stability (D) Openness

According to interactionist view

(A) Conflict is not only a positive force in a group but it is also necessary for the group to
perform effectively

(B) Conflict is bad for the organization and must be avoided

(C) Conflict is a natural phenomenon of any group or organization

(D) Conflict produces disequilibrium in the organization and hence effect productivity adversely
Which of the following may be outcome of eustress?

(A) Drug addiction (B) Job dissatisfaction
(C) Anxiety (D) None of the above
When was the Reserve bank of India nationalised?

(A) January 1, 1949 (B) January 1, 1950
(C) April 1, 1950 (D) April 1, 1949

A policy of inflation targeting was adopted by Reserve bank of India on the recommendations
of the

(A) Tapan Ray committee (B) Manaharan committee

(C) Sankar De committee (D) Urjit Patel committee
Consider the following statements regarding the Treasury bill market in India
I. The Treasury bill market in India is very much developed.

I1. RBI holds most of the outstanding treasury bills.

Which of the statements given above is/are correct?

(A) I only (B) 11 only

(C) Both I and 11 (D) Neither I nor 11
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1.l =M, 2017 A ¢udla v tirsHl umd-

(A cudla 22 6ivs ui 2. (B) ool Rauriet tirsHi 2l
(C) bivs wils LI Q. (D) 5121 6i-5ui 2.
[RuRA» 2=srAor oS 25 Slzan (Aell) (Ao NA-unidl sy [Aanq w2 97
I d-fl 2uuni 4z(Rue AMRAA qeunzil uz as sdl.

1. Aol 2152 1992 gIL d d4uRs HiddL 2uami 2udl sdl.

(A) A (B) WA Il

(€)1 24 11 bid (D) I 244 11 wigll 2isuet .

DA-unid 53 eudla Rad virs giaw weudla AUa-u iua-ui Guaiammi dani 2uad dq 97
(A) N8l aazauq ylaa (B) AHia 2aull ylaw

(C) RA53 2UHA UHIRL (D) Gua- tiaL

dlHn [Rumd 21 (A5 222 (IRDA) Al Sl S0 Qiui @y $2AUL Sdl ?

(A) 1998 (B) 1999

(C) 1997 (D) 1996

DAniedl 56 dla 2ie-) 22 195640 s 2udl 8dl ?

(A) %A S stuian s S (B) A2 S+ su-l (323

(€©) cds i~ stuian 2»is Sz (D) yrusdes Slrsan Sraizen su-l [

IR ARSI 2015 Hi “Dadgd -UHL Al YEIL S1isH A3 sUl, d -l G-
(A)2d2 &) virsi-l sruallui YRl s:dl.

(B) -eusla uxd (Financial Inclusion)-l vl s2dl.

(C) [ s1dan Rasdi-dl anu sa sl

(D) 651t AL AvHI-L WL Sl

ARudla AHd (Financial Inclusion) Micile= Ul W2 9¢dl S2as aslyi ael waLdl Adini
2ued 89, DA 53 duid AAsuw fl?

(A) uaH=ll o8 Aleru

(B) wenr=Al Hgt ulog-

(C) »saall tirsi w1 Al Auua ei-si-0 22mu-
(D) 2182 &l vi-si Yy s

*Rdly Rad virs g1l 2amiui Ysasl BRzasdaq-d se dnami w2 DA-unidl sa S-3as
[Aio ay e ?

(A) Blyea usiu-u S-3a (B) ysaell usin-u S-3a
(©) Rlrea ysash S-3a (D) ysasll Ss1225942 S-3a

(1521 50 Yas2isi 2ueuHl 30 [Bauui ualsu dwidl2 gl a-a2-l Hiondl 28a vl asi d yaadl
YA s sUL 97

(A)Sl=sa VIX (B) FT 30 4As s
(C) VN 30 (D) NSE 30 35 iis
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On April 1%t, 2017, Bhartiya Mahila Bank was merged with

(A) State bank of India (B) Punjab national bank

(C) Bank of Baroda (D) Canara bank

Which of the following statements are true about Securities and Exchange Board of India (SEBI)?
I. It was set up in 1988 on the recommendations of the Narasimham committee.

Il. Statutory recognition was given to it in 1992 through the SEBI Act, 1992.

(A) I only (B) 11 only

(C) Both I and 11 (D) Neither I nor 11

Which of the following is / are operating instrument of monetary policy, exercised by Reserve
Bank of India?

(A) Liquidity Adjustment Facility (B) Marginal standing facility
(C) Cash Reserve Ratio (D) All of the above

In which year the Insurance Regulatory and Development Authority of India (IRDA) Act was
enacted?

(A) 1998 (B) 1999

(C) 1997 (D) 1996

Which one of the following insurance organisation was set up in 1956?

(A) General Insurance corporation of India (B) National Insurance Company Ltd

(©) Life Insurance Corporation of India (D) United India Insurance Company Ltd

Indian Government rolled out a seven point action programme named ‘Indradhanush’ in 2015,
in order to

(A) Improve the performance of public sector banks
(B) Ensure financial inclusion

(C) Resolve the NPA problem

(D) Tackle the menace of bank frauds

Several steps have been taken during the last few years to promote financial inclusion. Which
of the following is not one of them?

(A) Pradhan Mantri Jan Dhan Yojna

(B) Pradhan Mantri MUDRA Yojna

(C) Setting up of payment banks and small financial banks
(D) Recapitalisation of public sector banks

Which one of the following index was constructed by Reserve Bank of India to capture the
extent of digitisation of payment across the country?

(A) Digital Performance Index (B) Payment Performance Index
(©) Digital Payment Index (D) Payment Infrastructure Index

What is the index which indicates the degree of fluctuation that can be expected in Nifty 50
index by active traders over the next 30 days?

(A) India VIX (B) FT 30 Index
(C) VN 30 (D) NSE 30 Index
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230.  GURAHE (B0 HR sY/5u1 AA/AAA AAAL AA RAUHT 20 97
(A) s (B) Rz
(C) [As (B (D) Guisd dmm
231, GURAHL G501 st YRl 200 DA-unidll sy/sun [/l a2 97
I RReH Al qampi u iy gL [ARMARAL A scUuT 2l Sl
1. (@gell 2t virll &l Giegid 2uaik Ul d sau-) 1ol 2unaimi >udl edl.
(A) =t | % (B) WA 11 %
©)1 211 11 i (D) 1 24 11 tiduidl 2is yet 18l
232, DRIl GURAUD AUHA AR 825 dFS Hirumi 209 97
(A) $d -ug (B) Mudlu Rosdd bivs A 284 vi-s2-l Al
(C) sl Ravd tirs Wi 28 1=y A1uRl (D) GuRlisd 14 %
233, AssLAsl.

™ | ™ 11

w5(2a danan v®@am swaltig

(a) Bewgn xl®Man (i) unonaedl alzq

(b) uglaL x[Man (ii) A S Adin

(c) AL HAldHam (iii) Guatddl 244 uad dg

(d) W3Ror x1l@an (iv) it
(A) (@)-(iv), (b)- (iii), (c)- (i), (d)- (i) (B) (a)-(iii), (b)- (i), (c)- (i), (d)- (iv)
(€) (@)-(iii), (b)- (iv), (c)- (i), (d)- (i) (D) (@)-(iv), (b)- (i), (c)- (i), (d)- (i)

234, DAuniedl sl wss el dadl usa-l um- 54 872
(A) % 3Rl 2o, R 2y, [Aseul yeuisq, wlel [Relu, wlel ugld yeuis-
(B) 3ua-dl 20w, [Aseuld yeuis, el [Rela, mld-l aiy, Wl uld yeuis
(C) %33l 2o, wEl [Relu, Wl 2y, [Asedid yeuis, vdlel ugld yeuis-
(D) %330l 2o, wEl [Rely, [Asedid yeuis, uldl-l 2y, wlel uld yeuis-

235. IR dlsl HoRl Hoaa i UHEL 21 AL FIRL-HIRRIA A4 AR dlsid WRd 52 8 R 1AL
USL sl ueLa Gl 21 697

(A) Wk dlaall ueua (B) 2ussl ucua
(C) uscusiall ueua (D) Buar 25 ugL 1l
236.  AAUUA &y (A i 97

(A) ulan x2aa [dednet Riaw s aiend 28R [Aeo- Al 2812 Yie s2AUMl 209 d 2ABHAL
28U [Acog seauu 6.

B) Rcucr--l uize-sis uslaai @Ay ol v (@ 2auno [Qeus+ o-ud 8.
(C) Ay s B[ 92 € 5 o181 WSS 25 AL & AU s Uvf ad O,
(D) W31 wi2-u ASsa vMaHuL 515 Alssu [Aenoylacudl ud slsd s24 wHa .
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Which of the following sectors is/ are considered the ‘Priority Sector’ for lending in India?
(A) Agriculture (B) Education

(C) Export Credit (D) All of the above

Which of the following statements is/are correct regarding the banking sector reforms in India?

I. Deregulation of interest rates was implemented on the recommendations of Narasimhama
Committee.

Il. Foreign and private sector banks were allowed to promote competition.

(A) I only (B) 11 only
(C) Both I and 11 (D) Neither I nor 11
In India, which of the following is/are considered as component of Reserve Money?
(A) Currency in circulation (B) Banker’s deposit with the RBI
(C) Other deposits with the RBI (D) All of the above.
Match the columns:

Column | Column 11
Marketing Management Orientation Focus
(a) Production Orientation (i) Power of Persuasion
(b) Product Orientation (if) Customer Satisfaction
(c) Selling Orientation (i) Availability and Affordability
(d) Marketing Orientation (iv) Quality
(A) (@)-(iv), (b)- (iii), (c)- (i), (d)- (i) (B) (a)-(iii), (b)- (i), (c)- (i), (d)- (iv)
(©) (a@)-(iii), (b)- (iv), (c)- (i), (d)- (i) (D) (a)-(iv), (b)- (i), (c)- (iii), (d)- (i)

Which of the following is correct generic sequence of consumer decision-making process?

(A) Need recognition, Information search, Alternative evaluation, Purchase decision, Post-
purchase evaluation

(B) Need recognition, Alternative evaluation, Purchase decision, Information search, Post-
purchase evaluation

(C) Need recognition, Purchase decision, Information search, Alternative evaluation, Post-
purchase evaluation

(D) Need recognition, Purchase decision, Alternative evaluation, Information search, Post-
purchase evaluation

Which of the following influence occurs when people are motivated to conform to group norms
in order to win approval and avoid disapproval or sanction?

(A) Informational Influence (B) Normative Influence
(C) Aspirational Influence (D) None of the above
Which of the following statement is false?

(A) Selecting a basis of segmentation variable based on presumptive bases without examination
or analysis is termed as priori bases of segmentation.

(B) Post-hoc methods of segmentations automatically create segmentations without identifying
various groups.

(C) Mass marketing assumes that all consumers are alike or could be treated alike.
(D) Rifle approach to marketing involves focusing on a particular segment(s).
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237.

238.

239.

240.

241.

242.

A3 51 AL

™ | ™ I

UEIAU DA A% ALAS5LI Bud [Raike yeu-uxil

(a) uda (i) eyl uda w2l [Zud

(b) al®4 (ii) 250 sl sAnui L w2 [(Zud

(c) ulRusadl (iii) u3dR atit (BHd

(d) usdl (iv) *uan21sl
(A) (@)-(iv), (b)- (iii), (c)- (1), (d)- (ii) (B) (a)-(iii), (b)- (i), (c)- (iv), (d)- (ii)
(C) (@)-(iii), (b)- (ii), (c)- (i), (d)- (iv) (B) (@)-(iii), (b)- (i), (c)- (ii), (d)- (iv)
Aaidl et 2ivi-u DA-unmiell s [Raizs s st uR lddoid uq uuadl Ao said 97
(A) [aaadluda B) us13&(a
(C) ulacua (D) g3l
[Zud a2t cag -1 5 ol 24 % A sl 2= SIS A1) Budl quadl 4él 18 6 d 2invaimi 2ud 8.
(A) Adl-uise 8 (B) ) opatarin-l 8
(ORI CRSEEY RESTEIREIN (D) [BHa-yta ey

Al (vertical) Mo utaldzil A2 usRl giu 69; Bl 3-
(A) su-dlaall, sds15ysd 214 s oit

(B) su-laall, adladl 24 12 2uulRa

(C) 52 2aRd, Adladl 2 ¢s15ysd

(D) 8515y, su-lasl 214 s 2utRd

A3 5L AL
™ | ™ I
Ay R
(@) Al Aa () o AHIA AL AAAAL AGUL QA 21U 69,
(b) 2udl A& (ii) A A (alay i a6,
(c) tiglauAa (i) AR Beules AHIA 61212 AUl Sl ddl 6 § ay A-a Bledl 52 R
[edcaui 2104 9.
(&) (@)-(ii), (b)- (i), (c)- (iii) (B) (@-(), (b)- (ii), (c)- (iii)
(C) (@)-(iii), (b)- (ii), (c)- (i) (D) (@)-(ii), (b)- iii), (c)- (i)
A3 5L AL
™ | ™ I
2B (Aol el LTI PITENER]
(a) AsUd (i) M
(b) A2 xA[MalEy (i) 425 uRen
(c) ulalea (iii) Sl
(d) cal3doid dam (iv) [Qaadlada
(A) (@)-(ii), (b)-(iii), (c)-(iv), (d)-(i) (B) (@)-(iii), (b)-(i), (c)-(ii), (d)-(iv)
(C) (@-(iii), (b)-(ii), (c)-(i), (d)-(iv) B) (@-(iii), (0)-(1), (c)-(iv), (d)-(ii)
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238.

239.

240.

241.

242.

Match the columns:

Column | Column 1l

Product Life-cycle Stages Pricing Strategies

(a) Introduction (i) Price to penetrate market

(b) Growth (ii) Price to match the best competitors’

(c) Maturity (iii) Charge cost-plus

(d) Decline (iv) Cut-Price
(A) (8)-(iv), (b)- (iii), (c)- (i), (d)- (ii) (B) (a@)-(iii), (b)- (i), (c)- (iv), (d)- (i)
(C) (&)-(iii), (b)- (ii), (c)- (i), (d)- (iv) (B) (a)-(iii), (b)- (i), (c)- (i), (d)- (iv)

Which of the following determinant of service quality depicts the provision of caring
individualized attention to customers?

(A) Reliability (B) Empathy
(C) Responsiveness (D) Assurance

The price-cutting strategy where the same customers shift to any lower-priced firm that comes
along is termed as

(A) Shallow-pockets trap (B) Low-quality trap
(©) Fragile market-share trap (D) Price-war trap
Vertical marketing systems are of three types, namely

(A) Corporate, Competitive and Customer

(B) Corporate, Administered and Contractual

(C) Contractual, Administered, Competitive

(D) Competitive, Corporate and Contractual

Match the columns:

Column | Column 11
Conflict Levels
(a) Vertical Channel (i) It occurs between channel members at the same level.

(b) Horizontal Channel (i) It occurs between different levels of the channel

(c) Multichannel (iii) It exists when the manufacturer establishes two or more
channels that sell to the same market.
@A) (a)-(ii), (b)- (i), (c)- (iii) (B) (@)-(1), (b)- (i), (c)- (iii)
(C) (&)-(iii), (b)- (i), (c)- (i) (D) (a)-(ii), (b)- (iii), (c)- (i)
Match the columns:
Column 1 Column 11

Promotion Mix Elements Characteristics/aspects

(a) Advertising (i) Incentives

(b) Sales Promotions (i) Persuasive

(c) Publicity (iii) Pervasiveness

(d) Personal Selling (iv) Creditability
(A) (8)-(ii), (b)- (iii), (c)- (iv), (d)- (i) (B) (a)-(iii), (b)- (i), (c)- (ii), (d)- (iv)
(C) (a)-(iii), (b)- (i), (c)- (i), (d)- (iv) (B) (a)-(iii), (b)- (i), (c)- (iv), (d)- (ii)
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243.

244,

245,

246.

247.

248.

249.

AN8AAHL TRP 124..

(A) Target Research Point (B) Target Rating Point

(C) Technical Rating Point (D) Target Research Programme
ugldxi AIDAHIZE Yad 8.,

(A) Awareness, Intention, Discretion, Action

(B) Attention, Interest, Desire, Action

(C) Attempt, Initiative, Desire, Action

(D) Attention, Interest, Discretion, Adoption

[Qa: (1) A wslEo mgeudd vataadl Yreu 24 mnasll sl s3Ruddll ass sd 8.

[Qtun: (1) 20+ w32 21 s si-l Se012il 204 vatala gaistgil - wRyeld a2l 2Hid Asid
9 53 69,

(A) (At (1) 244 (At (11) oid 0= 69,

(B) [t (1) 0 € ug [Qeun (1) vl 9.

(C) [t (1) viig & uig [ (1) w3y 8.

(D) [Q8n (1) 241 [Qaun (11) oid w2y 69,

Qe AL s usni by s uRadui, Foia g1l il dl Saiaar u ¢ ysami 2ud 97?

(A) BurulRad+ (B) aurucus ulRad-
(C) adws oifl uRad+ (D) 3 ivid) uRad-

ioial st an-l My s A nAIA 52 9.

(A) 2516 oia- %+ w2 SR [QRMAUL vidlE« (interpersonal) WRHAHL al3d-l cim
Qal.

(B) 2518 dsitil A W2 W3R [A[Rnuni wruRs (intrapersonal) wlRmadl al3d-l cus Al

(C) 22AHidl WALl g1 2is[Ad cudil Hi2 s URA sau.

(D) g gt Aaadl alzd g [Alve deia v 2un 5l7ed 524,

ao 2uRd SEami SEO 2ed...

(A) Search Engine Officer (B) Search Engine Optimization
(C) Search Engine Operations (D) Search Engine Office
A0 A 5y w2 4dl?

(A) e ool - wslEa msmi 1R A - accessibility, affordability, acceptability and
awareness gl €9,

(B) wHlaL troaRini Wil ulEa wdleani Hidl 254, A5t sl w3RUAA €2 51 W2 Al 14
u2ad dal {1l (Bud cawvu Qo or-udl as 9.

NN

(©)wuslEo Msiru 4 Pl wis(Eo Rsi 4 A ol et oger 69, % uflel o212l wd AA Alaws
ussIRiA GoAoIR 53 69,

(D) wHler g sl 3Nl 241 Sx9121 AL [AzeiRiell 1401 6.
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244,
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249.

TRP in advertising stands for

(A) Target Research Point (B) Target Rating Point

(C) Technical Rating Point (D) Target Research Programme
AIDA model in presentation implies

(A) Awareness, Intention, Discretion, Action

(B) Attention, Interest, Desire, Action

(C) Attempt, Initiative, Desire, Action

(D) Attention, Interest, Discretion, Adoption

Statement (1) — Green marketing makes the marketers cognizant of the need to protect and
preserve the environment.

Statement (11) — Green marketing represents an interface between satisfaction of customers’
wants and fulfilment of environmental responsibilities.

(A) Statement (1) and Statement (1) both are true.

(B) Statement (1) is true, but Statement (I1) is not true.
(C) Statement (1) is not true, but Statement (I1) is true.
(D) Statement (1) and Statement (1) both are not true.

Through which of the following type of social change, spreading information through campaigns
are emphasized.

(A) Action Change (B) Cognitive Change
(C) Behavioural Change (D) Value Change
The social strategy of relationship building attempts to

(A) leverage the power of interpersonal dimension in a marketing exchange to create durable
bond.

(B) leverage the power of intrapersonal dimension in a marketing exchange to create durable
bond.

(C) motivate customers to accumulate rewards to make purchase from stores.
(D) leverage the power of customisation that focuses on tailor-made products.
SEO of web-based marketing stands for

(A) Search engine officer (B) Search engine optimization
(C) Search engine operations (D) Search engine office

Which of the following is not true?

(A) The marketing mix for rural markets is characterised by four A’s namely accessibility,
affordability, acceptability and awareness.

(B) For rural markets, smaller affordable lower price packs can be created to do away with the
need to invest bigger sums in buying bigger packs.

(C) The four P’s of marketing mix is totally a different concept from the four A’s of rural
marketing mix addressing significant challenges linked to rural markets.

(D) Rural consumers’ needs and wants are different from their urban counterparts.
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250.

251.

252.

253.

254,

255.

ad (Fad) 211 S 923 dsldd ..
(A)as 1 Zstouol dls 2691 8 R $aq 21 diew duvu-l - 6.

(B) @8R 1 HlH 211d . 2l U uSIA B 11 82 9, BUIR FAL AARAHI oL o B3ul U 8 wAvyot
o 3ul AUl i1 lsull o 8.

(C) @l U AHIU N 2uus S1U 6. 3R Sl AR 518 AlssU AlsiiL oA Yol Hallzd slu 8.
(D) 48R A F2urL 2 s o A 8.

YRfad Q18 214w €2 ddH (s ol sl a2 Yl uigani zuadl dad .......... a<ls
N, 6,

(A) vl aigs (B) $RAR AUeS

(©) - cugs (D) Guanidl 2isual «dl.

DAuniell sy (A 0 el ?
(A) ] RSIULU AHYAL ELUAA €9, U g, 61l E0UAA AHYAL SRSIULAUR LU L 33 L.
(B) R AHYAL RSIULUR S1A AUR dAd 2UANLS AHgdl2Al UL 2 SIUE.

(C) U2 AHYAL JRSULAR SlU AR dA 2UNBLs uHgAlAL UL dls1aeuR oA 8 5H § ASduan
d-ll SR srugudidl sl Siu 6.

(D) M2 Al uuagdl az2uadl @ondd 8 ud SRsugUR .

Sriziledll 2 virs2il 53,2016 sadl @Ry & —

(A) a1l g su-flal w2

(B) curdla susll i yoror :yzes ada ol su-llza Wl

(C) it Su-lail, cudler] Udlail 244 lEd e

(D) el Su-lail 244 cudlleidl Ul e

DAunidfl st curdlu su-dl iRl 2013 AL sau 149 (6) Yoot ada [33522 ol us ?
(A) 29 su-il 23 531 Sl (UHieR)

(B) Bal su-dl A3 53 Sl A~ oit

-\

(C) % Uldi-w 2bitl e s 251 52l aY HAAl3d HRAAdL LA,

(D) Guaunig] vsuat 4.
A5 AL
Y5 AH[A gl 2AR Gea
(a) BoIREA (i) 12 W2 Auld A w2
(b) 214[RAd Meua (HEREE B ENRET FIECTRES
(c) Il (iii) 40 uaA SRl giren W2
(d) w2l 22 (iv) e ugL a9l dlRaieell aum Hoaa Wi
(A) (a)- iii, (b)- iv, (¢)- i, (d)- i (B) (a)- i, (b) — i, (c)- iii, (d)- iv
©) (a)- i, (b)- iv, (c)- iii, (d)- i (D) (a)-ii, (b)- i, (c) — iii, (d)- iv
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253.

254,

255.

Difference between Fad and Fashion is that
(A) Fad is a short-term craze whereas fashion is a long-term phenomenon.

(B) Fad arrives in slowly, eventually peaks and decline, whereas fashion arrives in the system
very fast and goes out of circulation very fast.

(C) Fad’s appeal is generally wider, whereas fashion appeal is generally limited to a select
group of people.

(D) Fad and fashion are one and the same thing.

Services provided between two points on a scheduled basis and at standard rates to all vendors
is known as

(A) Private Carrier (B) Contract Carrier

(€) Common Carrier (D) None of the above

Which of the following statement is not true?

(A) All illegal agreements are void but all void agreements are not necessarily illegal.
(B) When an agreement is illegal, agreements which are collateral to it remain invalid.

(C) When an agreement is illegal, other agreements which are collateral to it also becomes
illegal provided the third party has the knowledge of its illegality.

(D) An agreement with minor is void as against him but not illegal.
Insolvency and Bankruptcy Code, 2016 is applicable as of now to:
(A) All public companies

(B) All the companies registered under the Indian Companies Act.
(C) All the companies, partnership firms and individuals

(D) All the companies and partnership firms

Which of the following can be an independent director in a listed company, as per section 149(6)
of the Indian Companies Act 2013?

(A) One who is the promoter of the company

(B) One who is relative of the promoter of the company

(€) One who holds with his relative one percent of the total voting power in the company
(D) None of the above

Match the column.

Free Consent affected by Intention

(a) Coercion (i) To obtain consent for contract

(b) Undue Influence (ii) Not to deceive other party.

(c¢) Fraud (iii) To deceive other party.

(d) Misrepresentation (iv) To obtain unfair advantage from thr weak party.
(A) (@)- iii, (b)- iv, (c)-ii, (d)-1i (B) (a)- i, (b) —ii, (c)- iii, (d)- iv
©) (@- i, (b)- iv, (c)- iii, (d)-ii (D) (@)-ii, (b)- i, (c) —iii, (d)- iv
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263.

saieH WRue Ay usd el R
(A) 518 514 uasdugl s gl sami »ud 8.

(B) s Aul3ddld AR, Ysarll-l 22d als Aypl 511004 ealadl siu, uig dyel dd s sul
4.

(C) »ial [aeulyd 212 % Ala saHL 20l Al

(D) Gu-L t1aL o

su-l g1 82 53¢ [3las-s dreiesa ygaar vl nua A g o ?

(A) 2asud-it 30 [2auui (B) 2Asudr 40 [Bauui
(C) A81d 15 [Baui (D) A8R1d-L 5 [Bauui

vifl SU-lHi HSTH AGU HvuL SlU 8 —

(A) sull-it sH24 (Rasn 2 adaun oid) R 50

(B) su-lll sH021 (M sion 244 adHir 6id) 08 50

(€) su-ll-iL sH{2AL (Rpasn 21 adsun i) Ricwasu 200

(D) $usfl-it sHu24 Reua-u 200

“wlei way 17 Al Rugid Na-unidl 56 wRRalui g ul 9-

(A) AA-UR G121 VLAl 04 A1 241 e UR dll uR [ w3 d (Brumi

(B) Yura vuHlA ol AS tguiaarit (Brumi 2124 5 cuioroll udlael u Yy - 53 asi

(C) Bl gIRL AAAUML SUAAL HIA 27 GAUR GIR1 YR ULSUH Sl AL HIAL (B0l ie8d 2.
(D) s vile-iR Hidril wRaal aetll ds YA wisami 2uda sia da (sruui

ol dAUR WIAL dld Gual $3 A WAEURA HIA UslA3AL H51R $2 69, Ul WEUR dAUR WA
glal $3 as...

(A) e ] ugiasaint s o (B) A5 s112030 2id1
(C) 2uo10-it A AR 2490 da 451 2 (D) Gumisd sy dl.
AlAlvisd $r2gux2 252, 1881 -l 56U 138 860 AL As QAVUR L ALV g5H dls U

ysaarl v 530 a5 8, B Asl B4 .......... $dl ay - sl .
(A) 10 251 (B) 15 251
(€) 20 251 (D) 21 251

su-l iRl dsu Alua susll-n Ageiul A-umiddl sy [Qauq e ©:
(A) $u-l aziadl 92 sre1z wdl a3 «dl.

(B) surll HeTu 10 25171 €2 AR 1812 widl As.

(C) su-ll aziadl a2 t1812 wisl us.

(D) k2212 2iis Surill Hogdl euig susdl aziad) 42 ez wdl as.

-

.......... SIULR2 oUoLdL-lL HAlAuHl S-a1aqrd WA 89 3 % siuide A, AaquAst x4 tuRd-L
ARIR S Al uSdl 1 A e 69,

(A) MCA20 B)McA21
(C) MCA9001 (D) MCA22
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263.

Quantum meruit is not applicable when
(A) A work is done with intention to do so gratuitously.

(B) An indivisible contract requiring complete performance as a condition of payment, has not
been performed completely.

(C) A contract is divisible which has not been performed at all.
(D) All of the above.

What is the time limit within which the dividend declared by a company is to be paid to the
shareholders?

(A) 30 days from the declaration (B) 40 days from the declaration
(C) 15 days from the declaration (D) 5 days from the declaration
The maximum number of members in a private company can be:

(A) 50 excluding employees (past or present both) of the company

(B) 50 including employees (past or present both) of the company

(©) 200 excluding employees (past or present both) of the company

(D) 200 excluding employees of the company

The doctrine of ‘Caveat Emptor’ is applicable in which of the following situations
(A) In case of misrepresentation by the seller and buyer relies on it.

(B) In case of knowingly concealment of latent defects i.e., not recoverable on a reasonable
examination.

(C) In case of goods sold by description and goods supplied by seller don’t correspond to the
description.

(D) In case of a reasonable opportunity is given to the buyer to examine the goods.

Where the seller wrongfully neglects or refuses to deliver the goods to the buyer, the buyer may
sue the seller for

(A) damages for non-delivery.

(B) specific performance

(C) the profit forgone that could have been obtained through further sale.

(D) None of the above.

The court trying an offence under section 138 of the Negotiable Instrument Act, 1881 may

order the drawer of the cheque to pay interim compensation that shall not exceed of
the amount of cheque.

(A) 10 percent (B) 15 percent

(©) 20 percent (D) 21 percent

Which of the following statement is correct about a company registered under the Companies
Act:

(A) A company cannot issue shares at a discount.

(B) A company can issue shares at a maximum rate of 10 percent.

(C) A company can issue shares at a discount

(D) Acompany can issue shares at a discount after the approval from the Registrar of Companies.

is the e-governance programme of Ministry of Corporate Affairs that enables an easy
and secure of the services to corporate entities, professionals and citizens of India.

(A) MCA20 @B)McA21
(C) MCA9001 (D) MCA22
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264. o syl 20130 san 100 s nidell s g1l ciardd W20 W2 RailRd axudl 2134
seansll e SIRU I U SIU dlL d -

(A) 20001 26all3A d o 2201 d o [Bau yHl 2aBia a8 a5 9.
(B) 6l 1L 155 s3e o= dldlv, AU i 220 Y 22014 ad a3 ©.
(©)Re ad us.
(D) HlZormi g1os2 UL G121 2UsAES % 8.
265. Ml -l s1uel 2002 AA-unmisll s s1uein redln @Ry sAUHE el Sdl.
(A) [agall aiagir ([Rai=w) [Raw, 1976
(B) GuRddlu HiBll-L oY1 -l S1UEL, 1986
(C) SonRl 2 uldviffa dquir Uls2u-l s1ael , 1969
(D) bir5l 247 Areul i el ye:ulaq siuel , 1993
266.  nRiMd (32l cuqzan 2ed-

(A) R[raa sz oiruaal wie vl aidl(4l) 211 Rlyed stz asua 12 A8 4 -l uHida
5l YA adll A0 cuae

(B) s g1 SA52AS asNEl-u meandl oo 2143 Rmi [RERid sidun Saszils 2siu wllsa
i 324 s2e1aiR HA 6.

(C) ¥is el Ay, 59242 Al 5923 [RReH 2aal sRY[AZAA 18- AldRs A3
(D) siSua ylaa wuiddl siSust Al WHIR QAU ASR Fridi-l AU S22l qunel 2ud)

A5 8.
267. Rl 2siaio 152, 2000 Ss0 dla oya- sl YlRa sidu Al .......... Hi 21l e
s as e,
(A) [Fen Ry (B) A (A1) Ay
(C) G~y (D) al2 =

268. WA i Adl 52 Ss0 $1y2 251 5[32 Anacu-l ardl (Al AlA-umisll 53 w0y -l .
(A) DAL 860 AU AU GIRL DY 534 254 SllHAU HIREL 534 Sl

(B) 2uda - w2 532 AR ldd-d ul o d 3(32 daifl gl 2uuaimi 2ual R d wld e
LY, DAHUIAIR 20N,

(©)uia Rlaa) madl Blaa 21aq wilta a3 awami 2uq9 4.

Y

(D) A 5186 Yl WAL 25 825 UR BARLAL 1Al SAUML Ul 1A dl 518 Sy2 25u $[2l Hogdl
2 21adl A,

269. M35l AL

ollf&s 2duel 2«52 srisI

(a) Uar2 (i) 10 add il UMY, uHA Ay 59

(b) 2335 (i) Heyrit 60 aul ues

(c) sidlase (iii) 2129 g1via sui-l alwedl 20 oy Y
(A) (a) - iii, () - i, (c) - ii (B) (a) - ii, (b) - iii, (c) - i
(C) (a) - i, (b) - ii, (c) - iii (D) (a) - i, (b) - iii, (c) - ii

AWL - MASTER ] 55 [ Contd.


CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight


264. If the quorum is not present within half-an-hour from the time specified for holding a meeting
called by requisitionists under section 100 of Companies Act, 2013; it shall

(A) stand adjourned to the same day in the next week at the same place.
(B) stand adjourned to such other date, time and place as decided by the Board.
(C) stand cancelled.
(D) be held with the members present in the meeting.
265. The Competition Act, 2002 was enacted by replacing which of the following Act
(A) Foreign Contribution (Regulation) Rules, 1976
(B) Bureau of Indian Standards Act, 1986
(€) Monopolies and Restrictive Trade Practices Act, 1969
(D) Recovery of Debts due to Banks and Financial Institutions Act, 1993.
266. Asymmetric Crypto System means

(A) a system of a secure key pair consisting of a private key for creating a digital signature and
a public key to verify the digital signature.

(B) Authentication of any electronic record by a subscriber by means of the electronic technique
specified in the Second Schedule and include digital signature.

(C) the inter-connection of one or more computer or computer systems or communication device.

(D) any facility from where access to the internet is offered by any person in the ordinary
course of business to the members of the public.

267. Any person aggrieved by any decision or the order of the Appellate Tribunal under the
Information Technology Act, 2000 may file an appeal to

(A) District Court (B) Session Court
(C) High Court (D) Supreme Court

268. Which of the following is not true about the conditions of availing Input Tax Credit under GST
(A) Possession of tax invoice issued by the registered supplier under GST.

(B) The person taking credit for a given month will be allowed to take such credit only when he
furnishes a valid GSTR for that month.

(C) Constructive delivery shall not be considered as delivery or receipt of goods.

(D) No input tax credit will be allowed if depreciation has been claimed on the tax component of
a capital good.

269. Match the column.

IPR Tenure
(a) Patent (i) 10 years and renewed time to time
(b) Trademark (ii) 60 years after the death
(c) Copyright (iii) 20 years from the date of filing an application
(A) (a)- iii, (b)- i, (c)-ii (B) (a)- ii, (b) —iii, (c)- i
(©) (@- i, (b)- ii, (c)- iii (D) (@)-i, (b)- iii, (c) —ii
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270.

271.

272.

273.

274.

275.

276.

2717.

278.

wlRdl x1[8512 s1uaeL Ssm, S8 3uHi [Qeudt 11 L dar san (1) Ssm s wlRdl 242a1 3518 va
ML AEMHL AR A v S-dlu e R (a5 x1aa Aru 1 W 2E52 g il

2UUAHL 204 8, R AU ua Yar wd -l vl .......... [Bau-ll »ic2 yRd ARA wd
90U Sl ds 2uUHL 209 €,

(A) 21 [Bax (B) 10 [Bax

(C) 15 [Bax (D) 05 [Bax

o HURdL sl [ugs eguld gzt .......... Al ¢renmeEll seaumi 2ud 9.

(A) HIAL a3t

(B) asimat 244 asmen [ysd s2a 5+dlu 562 neanfl oiddl af@ld
(C) A, MR Yoo ~uadlal A4 asman [Rysd s2a 5-dla 56d2 nanHl oiddl afld
(D) astnn, dlsu [Quall ddy 214 agman [(Aysd s2a s+dla 56d2 nanfl oiddl afld

2us126ll ay 2020-21 H12, 221U - [ Gusz ......... e ALl 8.
(A) 1% (B) 2%

(C) 3% (D) 4%

sa 2uasl 251 125 56 54 Yl aacumi (AGS 2Uis sUML) 204 ©.
(A) 3.1 B)3. 10

(C) 3. 100 (D) 3. 1000

20500 @y 2020-21 W2, s [Rasa-dl 2uas dwndl AHA sau 24(A) Ssu Buasy suid s
YR .......... gedle.

(A) 15% (B)30%

(C) 45% (D) 60%

251260 adl 2020-211 9t HI2, 541 111A 601 1] A 2uddl sl HiHsi .......... L €3
5UA 6.

(A)15%

(B) 30%

(C) 53yl

(D) AR AL U3l AHI RAG HAOL 52U

A X Al qledl-l 2uas 3. 80,000 8. A4 1 2uas HuA 3. 10,000 WAL, 20 2uds UR H eu-dl
$25Uld 3. 24,000 8. 2usell au 2020-21 W Mz X Al s2u dledd-l 2nas 24l sa?

(A) 58 1l (B) 3. 70,000

(C) 3. 46,000 (©))3. 80,000

2usRell au 2020-21 W2, WAl Al3d 5 B ga 2095 .......... dl ay el dd sau 87 A 85t ¢92
UL 204 6.

(A) 3. 2,50,000 (B) 3. 3,50,000

(©)3. 5,00,000 (D) 3. 10,00,000

2uasu salboru [Bum, - sunsidl 2uas ... el Ysa .

(A) 3. 500 ®)3. 1,500

(C) 3. 2,500 (D) 3. 3,500
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270.

271.

272.

273.

274.

275.

276.

277.

278.

Under RTI Act, where a notice is served by the Central Public Information Officer or State
Public Information Officer, as the case may be, under sub-section (1) of section 11 to a third
party in respect of any information or record or part thereof, the third party shall, within

____days from the date of receipt of such notice, be given the opportunity to make

representation against the proposed disclosure.
(A) 21 days (B) 10 days
(C) 15 days (D) 05 days

The Chief Information Commissioner is appointed by the President on the recommendation of
the

(A) Prime Minister only

(B) Committee consisting of the Prime Minister and a Union Cabinet Minister to be nominated
by Prime Minister.

(C) Committee consisting of the Prime Minister, the Chief Justice of India and a Union Cabinet
Minister to be nominated by Prime Minister.

(D) Committee consisting of the Prime Minister, the Leader of Opposition in the Lok Sabha
and a Union Cabinet Minister to be nominated by Prime Minister.

For the assessment year 2020-21, health and education cess is applicable at the rate of

(A) 1% (B) 2%

(C)3% (D) 4%

The amount of total income is rounded off to the nearest multiple of

(A)Rs. 1 (B) Rs. 10

(C) Rs. 100 (D) Rs. 1000

For the assessment year 2020-21, deduction available under section 24(a) while computing income
under the head House Property is of the annual value.

(A) 15% (B) 30%

(C) 45% (D) 60%

For the assessment year 2020-21, short-term capital gain covered under section 111A is taxable
at the rate of

(A) 15%

(B) 30%

(C) Exempted

(D) Taxable as per the normal slab rate applicable to the assessee

Mr. X earned the lottery income of Rs. 80,000. He spent Rs. 10,000 to earn this income.
His tax deducted at source on such income is Rs. 24,000. What will be the taxable lottery income
of Mr. X for the assessment year 2020-21?

(A) Nil (B) Rs. 70,000
(C) Rs. 46,000 (D))Rs. 80,000

For the assessment year 2020-21, rebate under section 87A is allowed to that resident individual
whose total income does not exceed

(A) Rs. 2,50,000 (B) Rs. 3,50,000

(€©) Rs. 5,00,000 (D) Rs. 10,00,000

In case of clubbing of income, income of a minor child is exempted up to:
(A) Rs. 500 (B) Rs 1,500

(C) Rs. 2,500 (D) Rs. 3,500
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279.

280.

281.

282.

283.

284.

285.

286.

287.

288.

aienonoudl yilwia .......... A A2 A A3 O,

(A) aicnenou- Y i-st (B) 2stouvuril Hsl-st i

(C) aicuduou-l 24 Zsrnvusl yil-st uH (D) 418 uRl »nas

Al AN HARL ... AHY HI2 2000 A FS ASIA.

(A) 3ad (B) 5

(C) 7 (D) »utled aul w2

2u51260 ay 2020-21 Hi2, YSsiru s Sen 2uasHl ARd) sl avid sau 54 860 Y3 gicll
5L WIS, MIRAUE s QRS Ui, Yo Aulal Foiea-l adlmdl .......... A vig2 wdled A,
(A)2 ad (B) 3an

C)4ad (D)5 ad

251260 au 2020-21 Hi2, usit Mdsda-i s sl qsound aygHi ay .......... Yl 20 4 o8
ASIA,

(A) 2 ad (B) 4 a

(€)8 an (D) sutled aul w2

2us126ll aul 2020-21 W2, sa4 80 C 86 sUld-ll HETUH U ........ 8.

(A) 3. 50,000 (B)'3. 1,50,000

(C) 3. 2,50,000 (D) 3. 3,50,000

2us126ll au 2020-21 Hi2, Hi2R s12-1L ARyl ataLl sl auid wH-A BARLA2E —

(A) a1 [Bud-l 5% (B) aRuR1eug [ZHd-u 10%

(C) auRneus [3ud-u 15% (D) aruueus [3ud-i 20%

s [Rasa-u s Ssm 2uasl add s and (pusRell ay 2020-21 Hi2) Sea uHiA awlls
SUALML Y- GHESIH AHUIUOUAL A SULA AR5 WL €9 ?

(A) 2 Sudl (B) 3 Sudl
(C) 4 sudl (D)5 sudl

2u51260l ayl 2020-21 W2, [Mze: aradl @ 2uas 3. 18,00,000 U AL U3l 2B55 (ARAF ) ..........
23l.

(A) 585 1l (B) 10%

(C) 15% (D) 25%

U500 Q¥ 2020-21 HI2, GiAACILAHE ARl YL 0l sau 80 TTA dsull suld .......... ol adl
59 l?

(A) 3. 5,000 (B)'3.10,000

(C) 3.15,000 (D) 3. 20,000

DAuniell sy (A 0 97

(A) (A2 sua yA1R 530 M8 Sudla vl su-lui uiaRa 53 asiu 8.

(B) [Agin s1a uAIR 5304 21 5% A1l Hogdlone N2 su-dlA vidll sudlHi 3uidlRa 530 as 6.
(C) (A2 81 yA1R 53 214 ~unau-ll HogRloue MeR su-l- vl Su-flui 3uiaRa 53 asu 8.
(D) 28R sull virioll Su-llui 3uidRa 53 as 4.
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280.

281.

282.

283.

284.

285.

286.

287.

288.

Long-term capital loss can be set-off against

(A) Long-term capital gain

(B) Short-term capital gain

(C) Long-term capital gain as well as short-term capital gain

(D) Any income

Unabsorbed depreciation can be carried forward for

(A) 3 years (B) 5 years

(C) 7 years (D) Unlimited number of years

For the assessment year 2020-21, to claim exemption under section 54 while computing income
under the head Capital Gains, one residential house in India should be purchased within
from the date of transfer of original asset.

(A) 2 years (B) 3 years

(C) 4 years (D) 5 years

For the assessment year 2020-21, loss under the head House Property can be carried forward
maximum up to

(A) 2 years (B) 4 years
(C) 8 years (D) Unlimited number of years

For the assessment year 2020-21, the maximum amount of deduction allowed under section
80C is

(A) Rs. 50,000 (B)Rs. 1,50,000
(C) Rs. 2,50,000 (D) Rs. 3,50,000

For the assessment year 2020-21, while computing the perquisite of value of sale of motor car,
normal wear and tear is taken as

(A) 5% on written down value (B) 10% on written down value
(C) 15% on written down value (D) 20% on written down value

In how many equal annual instalments the pre-construction period interest is allowed as
deduction while computing income under the head House Property (for the assessment year
2020-21)?

(A) 2 instalments (B) 3 instalments
(C) 4 instalments (D) 5 instalments

For the assessment year 2020-21, surcharge applicable for Mr. Y whose total income is
Rs. 18,00,000 is

(A) Nil (B) 10%

(C) 15% (D) 25%

For the assessment year 2020-21, deduction under section 80TTA on account of interest on
deposits in savings account cannot exceed

(A) Rs. 5,000 (B) Rs. 10,000

(C) Rs. 15,000 (D) Rs. 20,000

Which of the following statement is correct?

(A) A public company can be converted into a private company by passing of a special resolution

(B) A public company can be converted into a private company by passing of a special resolution
and approval from the central government

(C) A public company can be converted into a private company by passing of a special resolution
and approval from the court

(D) A public company cannot be converted into a private company
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289.

290.

291.

292.

293.

294.

295.

296.

297.

Daumisll 56 uglad sudlaniu uRRve 7 oo su-dl-D 0l s gasieidlul ol ol ?
(A) a3imaL- 58340 5101

(B) asmtun sy AsalABxHL sw

(C) el HALA UAFd s2a M2, Hsin

(D) sull-it sHK 240 W2 ARUAA S U, WS M0

Acam 5922 Al (A2 sui Sadlf- aly Avam .......... g1 as sdl.

(A) Aollzud (B) Seuoue widla

(C) Al () VT TR R A R

[R22 e Hedlg UK .......... w1 ARG .

(A) 2R+ Sl™is (B) N6l a4

(C) 2uS A 21 s 30154 (D) 2G ™3

NFRA 2i2&-

(A) New Financial Regulations Act (B) National Financial Reporting Auhority

(C) National Financial Reporting Agency (D) New Financial Regulations Act

N8R Surll 20516201 AsIH 24 WIS s 252, B A5 A5 UL 2NUHL 209 8 d-
(A) 221 Astsiil Yrauw e Al AUE G121 UAR SAAA SIUEL 6.

(B) 22+ A51AS1RA-] YRaw 12 Y5+l AAE gl AR $AAA SIUEL .

(C) s 22 534 252 9,

(D) yrilun s gL HogR swel 9.

199241 53613] AM[A-Al meamal .......... vi(8a €.

(A) siui22 aa-i-uui YRl (B) ruzusneL («dlua oaildor)-l wossydl
(C) N8R sALVUHL GRIAUR SL164HE AMAL (D) Higl su-lziiq ¢isin y3 wsan

sudl-l 2132 AlMlani amlde Siu e —

(A) susll-it susl 214 2idRs 2322 (B) ii[32 udl-u syulul

(€) su-l-u 2eus [33s5231 (D) $usfl-t og=it 24 adHin 2413221
aumiddl sy /san Qe Qe S 32 2[3a1-u Aeeinl A/l & ?

1. 3ecus uldsitl e cuRdHl S5 32 2[301-l 2o 9.

1. S8R 2301 3 sudl-i sHARvAA Hia 214 At da 8.

(A) WA | o (B) Wt 11 %

(C) 1 A 11 6id (D)1 211 11 tiduidl 245y 18l

Rl DA 56 su-l2ini 2iemi 206 245 ada 20 (33522 6l 218 (s2Uui Aysd sl
¥3A S ?

(A) o1l (udla sudl2ini (B) t14ll o2 su-dlzini
(C) WAt AS1E) Su-dlaing (D) Al Alda su-laiui
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292.

293.

294.

295.

296.

297.

Which of the following activity is not allowed as CSR under Schedule VII of the Companies
Act?

(A) Contribution to the PM CARES Fund

(B) Contribution to the PM National Relief Fund

(C) Funds for sponsoring rural sports

(D) Funds for the subsidized housing for the employees of the company

The fraud in Satyam Computer Services Ltd was detected for the first time by:

(A) CBI (B) Hyderabad Police

(C) SEBI (D) Confessed by Mr Ramalinga Raju
The name of Mr Harshad Mehta is associated with

(A) The Securities Scam (B) PNB Fraud

(C) IL&FS Debacle (D) 2G Scam

NFRA stands for:

(A) New Financial Regulations Act (B) National Financial Reporting Authority
(C) National Financial Reporting Agency (D) New Financial Regulations Act
Public Company Accounting Reform and Protection Act, also known as SOX is:

(A) Act passed by the Indian Parliament to protect the investors of securities

(B) Act passed by the UK Parliament to protect the investors of securities

(C) The United States Federal Act

(D) Act approved by the European Commission

The Cadbury Committee which gives it recommendation in 1992 pertains to:

(A) Improving corporate governance (B) Strengthening whistle blowing

(C) Curbing corruption in public offices (D) Providing funding to sick companies
Audit Committee of a company consists of

(A) External and Internal auditors of a company

(B) Employees of the audit firm

(C) A few directors of the company

(D) Past and present auditors of the company

Which of the following statement/statements are correct in the context of ‘insider trading’?
I. Insider trading is allowed in India with a few restrictions.

I1. Insider trading is sale of goods and services to the employees of the company

(A) I only (B) 11 only

(C) Both I and 11 (D) Neither I nor 11

Which of the following companies in India are required to appoint at least one ‘woman
independent director’ in the board of directors?

(A) All Indian Companies (B) All Public Companies
(C) Only Government Companies (D) Only the specified listed companies
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298.  su-dlaii-u (Bruni o BalEso 2gl¢a 8 —
(A) s ulza 9 5 g+ g1 519 Su-l walis sronuidl 3 2isa 53 a3 &
(B) 515 $urll-l Y siauHi Yesi virilac
(C) Masdi-u ogag Ruia 539
(D) lBu [BilEsord [Ania
299.  DA-umid) 58 “332 A0’ cuRAHI S22 1L ?

(A) CRISIL (B) ICRA
(C) CARE (D)NSDL
300. [Re: [Axuweu.......... AL ASVUAAL Sell.
(A) A 1wy uldRa [afes B) a3 v
(C) Dlinell Siais (D) UREL 5iM™i3
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299.

300.

Book Building in case of companies refers to:

(A) A process through which a company may raise capital in the primary market
(B) Building of books in the library of a company

(C) Building of block of assets

(D) Construction of the office building

Which of the following is not a ‘credit agency’ operating in India?

(A) CRISIL (B) ICRA

(C) CARE (D) NSDL

Mr Vijay Mallya was associated with

(A) Satyam Computer Services Ltd (B) Kingfisher Airlines
(C) The PNB Fraud (D) Sharada Scam
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